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Number of Questions to be attempted : 50
Section Marks : 200
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 6009647
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 600964301 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Unit for the solid angle is

1. Degree
2. Radian
3. meter?
4, Steradian

Options :

6009641201. 1
6009641202. 2
6009641203. 3
6009641204. 4

Question Number : 1 Question Id : 600964301 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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T HIV (solid angle) I AP &

1, 319 (24

28T

3, Hied?

4 WU
Options :
6009641201. 1
6009641202 2

6009641203. 3
6009641204. 4

Question Number : 2 Question Id : 600964302 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Dimension of strain is

1. [mor279)
2 [M°L°T]
3. [MOL'T]
4 (M°L'T7)
Options :
6009641205. 1
6009641206. 2

6009641207. 3
6009641208. 4

Question Number : 2 Question Id : 600964302 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Page - 3
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Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

fagpfa 1 fowTd &

1. [mor2r9)
2. [MO1°TY]
3. [MOL'TY)
4, [Mﬂl-lTﬁ]
Options :
6009641205. 1
6009641206. 2

6009641207. 3
6009641208. 4

Question Number : 3 Question Id : 600964303 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The position of an object moving along x axis is given by x =q + bt> Where g =10m, b=2m s
and t is in second. The velocity at ¢ = 3,0 s IS

1.12ms
2.20ms!
3.36ms

4.46ms

Options :
6009641209. 1
6009641210. 2
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6009641211. 3
6009641212. 4

Question Number : 3 Question Id : 600964303 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

x—ﬁ&i-fﬁ-ﬂﬂ AR anaﬁﬁﬁﬂsaﬁf&rﬁ[sﬂwwﬁwa
x=a+bt
Tela=10mb=2ms 2 Nt UFISHGI ¢ =305 RAE

1.12ms”
2.20ms”
3.36ms

4.46ms’

Options :

6009641209. 1
6009641210. 2
6009641211. 3
6009641212. 4

Question Number : 4 Question Id : 600964304 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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An insect trapped in a circular groove of radius 10 cm moves along the groove steadily and

completes 14 revolutions in 100 5. The anqular speed of the insect is (take x = %}

1.022rads™
2.044 rad s
3.088rad s
4.176rads™

Options :

6009641213. 1
6009641214. 2
6009641215. 3
6009641216. 4

Question Number : 4 Question Id : 600964304 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
10 cm P50 & TTOR Wid § 1 D13 DIl T & SFICT R Y T $Xd §T 100 YU ¥ 14
B R B ¢ 8 Bl I BIvfia A ¢ (r = 2oy

1,022 rad 5™

2.044rad s
3.088rads™

4.176rads™

Options :
6009641213. 1
6009641214. 2

6009641215. 3
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6009641216. 4

Question Number : 5 Question Id : 600964305 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A batsman takes first run by moving from A to 8 and then goes for second run. When he reaches 20
m from B to D (see figure), he was run out. The net displacement of the batsman is

1.2m
2.20m
3.22m
4,42 m

Options :

6009641217. 1
6009641218. 2
6009641219. 3
6009641220. 4

Question Number : 5 Question Id : 600964305 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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B3 FeClaTd A ¥ B TP GISH gl T aidl ¢ A MU GOk ¥ & fefU 31sal ¢ | 9 g 8 D 20 m
ol TR Ugddl 6, dl T 3¢ gl oldl ¢ (3N SRAY) | 39 Sewia ol ¢ [qRiI §

1.2m
2.20m
3.22m

4,42 m

Options :

6009641217. 1
6009641218. 2
6009641219. 3
6009641220. 4

2

m

' a

L 2

-

«——20m

Question Number : 6 Question Id : 600964306 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A mass of 6 kg is suspended by a rope of negligible mass, and length 2 m from the ceiling. A force
of 60 N in the horizontal direction is applied at the mid-point P of the rope (see figure). The angle
the rope makes with the vertical in equilibrium is (take g = 10 m )

=
w
[ 16k
1.15°
2.30°
3. 45°
4,60°
Options :

6009641221. 1
6009641222. 2
6009641223. 3
6009641224. 4

Question Number : 6 Question Id : 600964306 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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6 kg %O 1 P [0S JU&0T Gom 3R 2 m vl fardll SN GR1 3 8 Feifa g1 g8 skl &
A o P TR 8Tt 1o 60 N 1 I e QIR 741 & (3N GRA) | FrvaaRyl ¥ SR GRT HlR
AP E (g = 10m 572 oY

1.15°
2.30°
3. 45°

4.60°

Options :

6009641221. 1
6009641222. 2
6009641223. 3
6009641224. 4

Question Number : 7 Question Id : 600964307 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A bullet of mass 10 g is fired with a speed of 400 m s on a soft plywood of thickness 4 cm. The
bullet emerges with 25% of its initial kinetic energy. The emergent speed of the bullet is

1.300ms™
2.200ms™
3.100ms™
4.50ms™

Options :

6009641225. 1
6009641226. 2
6009641227. 3
6009641228. 4

Question Number : 7 Question Id : 600964307 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

10 g SO0 O {dr ! Tiel! D1 400 m s~ D1 A1 G 4 cm HIETS @1 [l HIFQ @RS W G Tl g
g et ST+ TRIRG 7T il b 25% & 39 W58 & dTe Mdadl ¢ | el & G1gR e 1 a1
:

1.300ms™
2.200ms’
3.100ms™
4.50ms™

Options :
6009641225. 1
6009641226. 2
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6009641227. 3
6009641228. 4

Question Number : 8 Question Id : 600964308 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The torque about the origin due to a force F = 7i N acting on a particle whose position vector is r =
5i m will be

1.355Nm

2.35k N m
3.(35) - 35k) N'm
4. Zero

Options :

6009641229. 1
6009641230. 2
6009641231. 3
6009641232. 4

Question Number : 8 Question Id : 600964308 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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foraft v forrant fRUfQ e v = 5im @ W reRa ol & F = 70 N 1 73 foeg, & ORt: &t o
Gl

1.35N'm
2.35kN'm

3. (35) = 35k) N m
4,3

Options :

6009641229. 1
6009641230. 2
6009641231. 3
6009641232. 4

Question Number : 9 Question Id : 600964309 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The angular speed of a wheel is increased from 1200 rpm to 2400 rpm in 10 s. Assuming
acceleration to be uniform, the angular acceleration is

1.4mrads™
2. 2mrad s
3. 4rad s
4.2rad s

Page - 13
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Options :
6009641233. 1
6009641234. 2
6009641235. 3
6009641236. 4

Question Number : 9 Question Id : 600964309 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fopdlt ufgu @1 1ol 91 10 s & 1200 rpm § TR 2400 rpm T A1t &1 @R F1 UHHEH AR U
DIUfig @R &

1.4mrad s
2. 2mrad s
3, 4rad s

4.2 rad s
Options :
6009641233. 1
6009641234. 2
6009641235. 3
6009641236. 4

Question Number : 10 Question Id : 600964310 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Page - 14
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For a planet revolving around the sun in a stable orbit, the relation between kinetic energy K and
potential energy U is

LK=U

2Kk=U/2

3 K=-=1

4K=-U)2
Options :
6009641237. 1
6009641238. 2

6009641239. 3
6009641240. 4

Question Number : 10 Question Id : 600964310 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

e e X ot U vt el 7 o i oot K <R Rt oot U S e W

1L.K=0
2K=U/2
3Kk=-1U
dxk=-U/)2
Options :

6009641237. 1
6009641238. 2
6009641239. 3
6009641240. 4
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Question Number : 11 Question Id : 600964311 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A material like rubber which can be stretched to cause large strain is called,

1. Highly elastic
2. Ductile
3. Plastic

4. Elastomers
Options :
6009641241. 1
6009641242. 2
6009641243. 3
6009641244 4

Question Number : 11 Question Id : 600964311 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

35 o e for 95 [l e e d g el off el 6, g 6

1. 31 Wy

20
3, [ |
4, TIRYAS ZARCH)

Options :

6009641241. 1
6009641242. 2
6009641243. 3

Page - 16
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6009641244. 4

Question Number : 12 Question Id : 600964312 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
For a soap bubble, the difference between the inside pressure of the bubble and the outside

pressure of the bubble is given by (r is the radius of the bubble and § is the surface tension of the
soap solution)

1. 28/r
2. 45/r
3.5/r

4.5/2r

Options :

6009641245. 1
6009641246. 2
6009641247. 3
6009641248. 4

Question Number : 12 Question Id : 600964312 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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fovell W1 o sl 3 fory qaiael & iR 1 dU1 9Uae B S1gR e & dld @l 3R gl ¢ (Su Bl
Fod, T ST & Fa 1 98 71, § ©)

1. 25/r
2. 45/r
3.5/r

4.5/2r

Options :

6009641245. 1
6009641246. 2
6009641247. 3
6009641248. 4

Question Number : 13 Question Id : 600964313 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The shapes of the black body radiation curves depend on its

1. Mass
2. Surface area
3. Material

4. Temperature

Options :

6009641249. 1
6009641250. 2
6009641251. 3
6009641252. 4

Page - 18
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Question Number : 13 Question Id : 600964313 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

HIVET fAfR0 9 Bl SAGH HAR Bl § T

1. GOHA R

2. U8 %0 R
3 G |

4 AR

Options :

6009641249. 1
6009641250. 2
6009641251. 3
6009641252. 4

Question Number : 14 Question Id : 600964314 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The molar specific heat capacity at constant volume for a rigid diatomic molecule is (R is the
universal gas constant)

—a
==

]
LA | =3=Jd] WO
= ]

L
=

Y

B3] Labsd |
=
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Options :
6009641253. 1
6009641254. 2
6009641255. 3
6009641256. 4

Question Number : 14 Question Id : 600964314 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

[ 3T R il € RO 310] bt HieR a1 3wt 4R gl & (R Wi 19 i o)

—=
b =
==

M2

B | Cadbsd | WAED | =1=J ]
=

L
=

A
-

Options :

6009641253. 1
6009641254. 2
6009641255. 3
6009641256. 4

Question Number : 15 Question Id : 600964315 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Page - 20
20/230



9/18/2020
A Carnot engine works between temperatures T; and T (T; > T;). The efficiency of the engine is

L 1-1/m,

Options :

6009641257. 1
6009641258. 2
6009641259. 3
6009641260. 4

Question Number : 15 Question Id : 600964315 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Bl BHI 50 T, IR T, (T, > T,) A1 & did &1 3l o 50 59 D1 ol 6

1‘1_T1/T:

Options :
6009641257. 1
6009641258. 2

6009641259. 3 Page - 21
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6009641260. 4

Question Number : 16 Question Id : 600964316 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following expression does not represent simple harmonic motion?

1.4 sin (wt)
2. B cos (wt)
3. 4 sin (wt)+ B cos (wt)
4 Ae“t +Bewt
Options :
6009641261. 1
6009641262. 2

6009641263. 3
6009641264. 4

Question Number : 16 Question Id : 600964316 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

frfofad & O &19-91 oo T 1dadl d & (eid Tl Bl 7

1. Asin (wt)
2. Bcos (wt)
3.4 sin (wt)+B cos (wt)

4;4 Euf_B E—u.l!'
Options :

6009641261. 1
Page - 22
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6009641262. 2
6009641263. 3
6009641264. 4

Question Number : 17 Question Id : 600964317 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
When a source of sound move towards the stationary observer with a velocity , and emitting sound
of frequency v, the apparent frequency v measured by the observer will be (y is the velocity of
sound measured by observer)

Ly=vy(141,/v)
2v=vy(1-v,/v)
3v=vy(l+v/v,)
4 y= vo(1-v/v;)

Options :

6009641265. 1
6009641266. 2
6009641267. 3
6009641268. 4

Question Number : 17 Question Id : 600964317 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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o Pl - BT I [ 4T ,, W bl FRR Wefep i 3R T T § el Il v i Mg
&, a1 Ve g1 A 7t gl v G (e IR it 1 T IO T )

Tv=wy(1+ v, /v)
2. v=vy(1-1,/v)
3.y =wy(1+ v/v,)
4 v=vy(1-v/v,)

Options :

6009641265. 1
6009641266. 2
6009641267. 3
6009641268. 4

Question Number : 18 Question Id : 600964318 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

On an average, a human heart is found to beat 72 times per minute. The frequency of heart beat will
be

10833
21257
3125
47257

Options :
6009641269. 1
6009641270. 2

6009641271. 3
Page - 24
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6009641272. 4

Question Number : 18 Question Id : 600964318 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

3 HId ged B! Y5 U e ¥ 72 OR Ul i ¢ 1 §ed BI YSdH &l 3af gl

1.08335
2125
31257
4725

Options :

6009641269. 1
6009641270. 2
6009641271. 3
6009641272. 4

Question Number : 19 Question Id : 600964319 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The speed-time graph of a particle moving along a fixed direction is shown in the figure. The
distance traversed by the particle betweent=0stot=8sis

s 10 A
£ F i
; B / \\\
§ f’f \
w | \.1
0 4 &
ts)
1. Zero
2.20m
3.40m
4.80m
Options :

6009641273. 1
6009641274. 2
6009641275. 3
6009641276. 4

Question Number : 19 Question Id : 600964319 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Page - 26
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3 A o & srgfemy e fordt 1 T a1el- 9w 91 R gl t= 05 ¥t =8sdhafd

& GR1 9l T g8 ©
e | /i\
" g°
[|S)
1.3
2.20m
3.40m
4,80 m
Options :

6009641273. 1
6009641274. 2
6009641275. 3
6009641276. 4

Question Number : 20 Question Id : 600964320 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The angle between the force F = 6i +2] and the displacement D = 2i +6j is

1.sin71(0.3)
2.sin7'(0.6)
3, ¢cos7'(0.3)
4. cos™'(0.6)
Options :
6009641277. 1
6009641278. 2

6009641279. 3
6009641280. 4

Question Number : 20 Question Id : 600964320 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

T, F = 61 +2) AR ORI, D = 21 +6) F A B0 3

1.5in71(0.3)
2.5in”'(0.6)
3,¢057'(0.3)
4. cos™'(0.6)
Options :
6009641277. 1
6009641278. 2

6009641279. 3
6009641280. 4

Question Number : 21 Question Id : 600964321 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Page - 28
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Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Three masses 4 kg, 2 kg and 4 kg are placed along X-axis as shown in the figure. The coordinate of
the centre of mass will be

dkg  2kg 4kg

Options :

6009641281. 1
6009641282. 2
6009641283. 3
6009641284. 4

Question Number : 21 Question Id : 600964321 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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4kg, 2 kg 3R 4 kg GO B o fvg X-femm & arpfem e H Gufy 3R T8 MU E | 5 el

b5, & Fagia gi
:
H
dkg  Zkg dkg -
0 [ )
1.(1,0)
2(1,1)
3.(3,0)
43,1
Options :

6009641281. 1
6009641282. 2
6009641283. 3
6009641284. 4

Question Number : 22 Question Id : 600964322 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The total energy of a satellite of mass m orbiting at a height h above the surface of the earth is given
by (M is the mass of earth, R is the radius of earth)

GmM
' 2(R+h)
tmM
"2(R+h)
GmM
" (R+h)
GmM
"(R+h)
Options :
6009641285. 1
6009641286. 2

6009641287. 3
6009641288. 4

Question Number : 22 Question Id : 600964322 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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a1 gl 31 R @)

GmM

2(R+h)
GmM

2(R+h)
GmM

(RN
4 GmM

(R+h)

Options :

6009641285. 1
6009641286. 2
6009641287. 3
6009641288. 4

1.

2

Question Number : 23 Question Id : 600964323 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The average depth of Indian Ocean is 3000 m. The pressure at the bottom of the ocean is (g = 10 m
52, density of water = 1000 kg m™)

1.3x10%%kg m's™
2.3x10"kg m's™
3.3x10% kg m's™?
4.3x10°kg m's
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Options :
6009641289. 1
6009641290. 2
6009641291. 3
6009641292. 4

Question Number : 23 Question Id : 600964323 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
o< FGRITR @1 311 TTERTs 3000 m &1 HERFR &1 aell WS § (g = 10 m s, el &1 87 = 1000
kg m™>)

1.3x10%kgm™'s
2.3x10" kg m's™
3.3x10% kg m's™
4.3x10°kg m's?
Options :
6009641289. 1
6009641290. 2

6009641291. 3
6009641292. 4

Question Number : 24 Question Id : 600964324 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A pan filled with hot food cools from 95° C to 85° C in 2 minutes when room temperature is 20° C.
The time taken by the food to cool from 55° C to 45° C will be

1.260s
2.280s
3.300s
4.320s

Options :

6009641293. 1
6009641294. 2
6009641295. 3
6009641296. 4

Question Number : 24 Question Id : 600964324 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
TH HIo 9 R D15 U 2 e # 95 °C & 85 °C 0 681 Gidl o, 8 $&-ald 20 °C 51 39 HioH & 55
°C Y 45 °C & 681 g H T el §¥ ¢

1.260s
2.280s
3.3005
4,320

Options :

6009641293. 1
6009641294. 2
6009641295. 3
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6009641296. 4

Question Number : 25 Question Id : 600964325 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A flask contains argon and chlorine in the ratio 2 : 1 by mass. The temperature of the mixture is 27°
C. The ratio of the average kinetic energy per molecule of argon to that of chlorine is

1.1:1
2.1:2
3.2:1
4.1:4

Options :

6009641297. 1
6009641298. 2
6009641299. 3
6009641300. 4

Question Number : 25 Question Id : 600964325 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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foreft v 7 48} 3ff IR TN & ol &7 U 2; 11 YO T AT 27 °C g1 3T 3R
AR 1 Ui 3] 3 et Srfaff 1 3T §

1.1:1
2.1:2
32:1

4.1:4

Options :

6009641297. 1
6009641298. 2
6009641299. 3
6009641300. 4

Question Number : 26 Question Id : 600964326 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Light of wavelength 6000 A is coming from a star. The limit of resolution of a telescope with

objective diameter of 244 cm will be

1.2x107 rad
2.3x107 rad
3.3x10% rad
4,2x1078 rad

Options :
6009641301. 1
6009641302. 2

6009641303. 3
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6009641304. 4

Question Number : 26 Question Id : 600964326 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fobelt AN 3 6000 A TNTGE T WbTS1 31 TG ¢ | [l 244 cm IR b SMEE o 1Y fabel] Geeei
B! favie & S gl

1.2x107 rad
2.3x107 rad
3.3x107% rad
4, 2x10 rad

Options :

6009641301. 1
6009641302. 2
6009641303. 3
6009641304. 4

Question Number : 27 Question Id : 600964327 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Monochromatic light of frequency 6.0x10™ Hz is produced by a laser. The energy of a photon of the
light beam will be (h = 6.63x10°%) )

1.398x107)
2.398x107"7 )
3,398x107¢ )
4,3.98x107"

Options :

6009641305. 1
6009641306. 2
6009641307. 3
6009641308. 4

Question Number : 27 Question Id : 600964327 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fopaft QIR GRT 6,010 Hz 3Gl T Tl obTey e faoell 77T 1 3 UIRT U & BIc &l ol
giTlt (h = 6.63x10° )

1.3.98x107)
2.398x107"7 )
3.398x107)
4,398x107")

Options :
6009641305. 1
6009641306. 2

6009641307. 3
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6009641308. 4

Question Number : 28 Question Id : 600964328 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
An electron, an alpha particle and a proton have same kinetic energy. Which of the following
statements is true regarding their de-Broglie wavelength?

1. N electron < A alpha < A proton
2. aloha < Aoroton < Aelectron
3. A aipha > Aoroton > Aelectron

4.\ proton > }‘alp"d * ?"':' ectron

Options :

6009641309. 1
6009641310. 2
6009641311. 3
6009641312. 4

Question Number : 28 Question Id : 600964328 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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foreth gaiaci, forel we o 3R el e @t foret ol T €1 STt & it e & W A
A T T - Y W 7

1. \(Vambda\) gzt < \(\lambda\) g < \(\lambda\) giet
2.\(\lambda\) tzr < \(\lambda\) giets < \(\lambda\) s¢ets
3.\(\lambda\) tw > \(\lambda\) gz > \(\lambda\) geieeta
4 \(\lambda\) gzt > \(\ambda\) ¢ > \(\lambda\) szt

Options :

6009641309. 1
6009641310. 2
6009641311. 3
6009641312. 4

Question Number : 29 Question Id : 600964329 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The energy equivalent of 2 g of substance is (Velocity of light = 3x10°ms™)

1.18x107)
2.1.8x10™)
3.1.8x10"
4.18x10" )

Options :

6009641313. 1
6009641314. 2
6009641315. 3

6009641316. 4
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Question Number : 29 Question Id : 600964329 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

2 g U& @1 il qid & (HobT%] 1 Tl = 3x108 ms™)

1.1.8x10°)
2.1.8x10™ )
3,1.8x10" |
4,1.8x10"7 )
Options :

6009641313. 1
6009641314. 2

6009641315. 3
6009641316. 4

Question Number : 30 Question Id : 600964330 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
To make 'n’ type semiconductor, the doping element will be

1. Boron

2. Phosphorous

3. Aluminium

4, Gallium
Options :

6009641317. 1

6009641318. 2
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6009641319. 3
6009641320. 4

Question Number : 30 Question Id : 600964330 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
‘' BR P A4S T & (0 716 (TR 7 g

1.9RMA
). IBIRY

3, Uity
4, TMferqy

Options :

6009641317. 1
6009641318. 2
6009641319. 3
6009641320. 4

Question Number : 31 Question Id : 600964331 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The following truth table represents

el BE N = =T -
- | O | — | & | D
— | s | | S | -

1. AND gate
2.OR gate
3. NOR gate

4. NAND gate

Options :

6009641321. 1
6009641322. 2
6009641323. 3
6009641324. 4

Question Number : 31 Question Id : 600964331 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Al & et s Rl freT e §

A B Y
0 0 0
0 1 1
1 0 1
1 1 1

1. AND TIc @I

2. ORI &l

3. NOR 7€ @1

4, NAND e &1

Options :

6009641321. 1
6009641322. 2
6009641323. 3
6009641324. 4

Question Number : 32 Question Id : 600964332 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The scientist who first developed an apparatus for generating ultra-short electromagnetic waves is

1. S.N. Bose

2. A Hertz
3.).C. Bose
4. ). Maxwell

Options :

6009641325. 1
6009641326. 2
6009641327. 3
6009641328. 4

Question Number : 32 Question Id : 600964332 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

TR1-YeA AQgradIg bl I X 1 U (I S a1el Yo aqiTa §

1, T8, 0, 919

2050
3.9, 4 iy
4,9, AFgdd

Options :

6009641325. 1
6009641326. 2
6009641327. 3
6009641328. 4

Question Number : 33 Question Id : 600964333 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is QF1>1esti0111r 5
age -
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Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Advance sunrise at a place on the surface of the earth is due to

1. Diffraction of light

2. Total internal refraction of light
3. Rotation of Earth

4. Atmospheric refraction of light

Options :

6009641329. 1
6009641330. 2
6009641331. 3
6009641332. 4

Question Number : 33 Question Id : 600964333 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

7t & U W e @ W i qlem rar g

1. bS] 1 faacH
2. W11 1 T0f IR WTdci
3, 5] 1 i i
4, b1 1 AHUSH Sfudc

Options :

6009641329. 1
6009641330. 2
6009641331. 3

6009641332. 4
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Question Number : 34 Question Id : 600964334 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In Young's double slit experiment, the slit separation is 2 mm and the screen distance is 1.0 m. If the
wavelength of light is 600 nm, fringe separation will be

1.0.3 mm
2.3.0 mm
3. 0.6 mm
4.6.0 mm

Options :

6009641333. 1
6009641334. 2
6009641335. 3
6009641336. 4

Question Number : 34 Question Id : 600964334 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
411 & faferd] v, fR-0ue 2 mm GUTGE 31 331 1.0 m g1 TS THRI F1 76 600 nm g,
fThol gy i

1.0.3 mm
2.3.0 mm
3,06 mm

4, 6.0 mm

Options :
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6009641333. 1
6009641334. 2
6009641335. 3
6009641336. 4

Question Number : 35 Question Id : 600964335 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In the circuit shown, the currents /; and /, are respectively

A
' Yl /
5LZ§ 150

3A

L4A4A

2.2A;6A

3.6A;2A

4.5A;3A

Options :

6009641337. 1
6009641338. 2
6009641339. 3
6009641340. 4

Question Number : 35 Question Id : 600964335 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

g g faegd oy & 4RTG 1, 3R 1, F99:

3A
g ' TF;
L
5.;_.;: §|5':.'
3A
LA4A4A
22A:6A
30A:2A
45A:3A

Options :

6009641337. 1
6009641338. 2
6009641339. 3
6009641340. 4

Question Number : 36 Question Id : 600964336 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The electric field due to an infinitely long thin straight wire with uniform linear charge density A at a
radial distance r from the wire is ( & is the permittivity of free space)

1. \/4neyr?
2. M2,

3. \/2ngyr?
4.\ 2neyr

Options :

6009641341.
6009641342.
6009641343.
6009641344.

AW O~

Question Number : 36 Question Id : 600964336 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
ol T b 3R BT | 3l g Ul R b V] R B g8 r R g 4 g |
e I SFGPIR] ! fAGTRITerel (RIGGYF) ¢ |

1.1/ 4meyr?
2.1/2,

3.0 2me,r
4.2/ 2neyr

Options :

6009641341. 1
6009641342. 2
6009641343. 3
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6009641344. 4

Question Number : 37 Question Id : 600964337 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Materials suitable for making an electromagnet should have

1. High permeability, high retentivity
2. High permeability, low retentivity
3. Low permeability, low retentivity
4. Low permeability, high retentivity

Options :

6009641345. 1

6009641346. 2

6009641347. 3
6009641348. 4

Question Number : 37 Question Id : 600964337 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

FGAgra & o folU ST T @l gl aiey

1, Iod YR, I RO Terd]
2. 3d TR, 49 YROrsiiedd
3, {9 g, g ROt
4, 149 R, 3o RoTSiferel

Options :

6009641345. 1
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6009641346. 2
6009641347. 3
6009641348. 4

Question Number : 38 Question Id : 600964338 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
An electric dipole is enclosed by a Gaussian surface (see figure). The total electric flux through the
surface is

1. g/
2. Zero

3. -q/g,
4'EQfED

Options :

6009641349. 1
6009641350. 2
6009641351. 3
6009641352. 4
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Question Number : 38 Question Id : 600964338 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Pl deda fayd forel ol g gR1 uRes & (3R ST | 59 U8 3 ToRA a1 §d fagad Tl o

1. q/g,
) 3]

3. -q/g,
4-2q/¢,

Options :

6009641349. 1
6009641350. 2
6009641351. 3
6009641352. 4

Question Number : 39 Question Id : 600964339 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A charge Q is placed at the centre of a thin spherical shell of radius R. An electron is moved from
point A to point B (see figure). The total work done will be

1. Zero

2. Q/4neyR

3. Q/4neq(2R)

4. Depends on the path followed
Options :
6009641353, 1
6009641354 2

6009641355. 3
6009641356. 4

Question Number : 39 Question Id : 600964339 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Pl A Q FIwAT R & el Uerel Tl G b dhess W 6| foell ol bl (9 A G fag B A d
T T § (1R <R | {7 e vl g1

1.9
2. Q/4me,R

3. Q/4mey(2R)
4. 9 a1d 1Y IR R &

Options :

6009641353. 1
6009641354. 2
6009641355. 3
6009641356. 4

Question Number : 40 Question Id : 600964340 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The resistance of the resistor shown in the figure is

Black  Siver

Brown | Red

on

1.(10 x10* )
2. (10 x 10% )
3.(20 x 10* Q)
4. (20 x 10* Q)

%
0%
0%

T
1
t
+5%

LA =

Options :

6009641357. 1
6009641358. 2
6009641359. 3
6009641360. 4

Question Number : 40 Question Id : 600964340 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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3 H ST 70 Hfeiefd ol faR1Y §
g )

1. (10X 10° Q) + 5%
2.(10 X 10* Q) + 10%
3. (20 x 10 0) +10%
4.(20x 10" 0) + 5%

Options :

6009641357. 1
6009641358. 2
6009641359. 3
6009641360. 4

Question Number : 41 Question Id : 600964341 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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In a metre bridge the wire used is constantan or nichrome. This is because their

1. Resistivity is high

2. Resistivity is low

3. Temperature coefficient of resistivity is negligible
4. Melting point is high

Options :

6009641361. 1
6009641362. 2
6009641363. 3
6009641364. 4

Question Number : 41 Question Id : 600964341 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Hiex g H PlgCcTe sra Heb I o R T AN (o Sl 6| S9! DRV ¢ 3P1/57a)

1, iRl 3w &
2 Wikl (U ©
3, 10 fcRleieell o1 Suegofi
IRIGCIERE
Options :
6009641361. 1
6009641362. 2

6009641363. 3
6009641364. 4
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Question Number : 42 Question Id : 600964342 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In the circuit (see figure), the value of current I is

40

A

L]
B
[=2]
—

1.033A
2.025A
3.020A

4.015A

Options :

6009641365. 1
6009641366. 2
6009641367. 3
6009641368. 4

Question Number : 42 Question Id : 600964342 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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G0 70 Oy H (3R SRA0) YR/ 1A

4Q
MW

'\-‘—\-I
=
>

[

)

260

|,
[
2V, 2Q

1.033A

2.025A
3.020 A
4.015A

Options :

6009641365. 1
6009641366. 2
6009641367. 3
6009641368. 4

Question Number : 43 Question Id : 600964343 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A charged particle enters perpendicular to a uniform magnetic field. Which of the following
statements is true for the charged particle?

1. Kinetic energy changes
2. Kinetic energy remains constant
3. Speed changes

4. Momentum remains constant
Options :
6009641369. 1
6009641370. 2
6009641371. 3
6009641372. 4

Question Number : 43 Question Id : 600964343 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

i AN U1 o5} U e & H & & v WA el ¢ | 59 S 1 & for -
A B Tl 67

1. ol oot ukafeld gt &
2. T ol e el &
3, 1 uRvafd gidl ¢
4, o P e @
Options :
6009641369 1

6009641370. 2
6009641371. 3
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6009641372. 4

Question Number : 44 Question Id : 600964344 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Consider a tightly wound 200 turns coil of radius 10 cm carrying a current of 1 A. The magnetic field
at the centre of the coil is (u, = 4n x 1077 TmA™)

1.2nx1074 T
24mx1074T
3. mx107° T

4 4nx1073 T
Options :
6009641373. 1
6009641374. 2
6009641375. 3
6009641376. 4

Question Number : 44 Question Id : 600964344 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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10 cm P 1 e e 70 200 BT 1 forelt o], o 1 A e waf &1 e €, W fdeR
ﬁm|ﬁm$aﬁmmﬁq%(un=4nx 107 TmA™)

T2nx107* T
2.4mx107* T
32mx107% T
4 4nx 107 T

Options :

6009641373. 1
6009641374. 2
6009641375. 3
6009641376. 4

Question Number : 45 Question Id : 600964345 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A horizontal component of Earth's magnetic field at a certain place is 3x 10-5 T and its direction is
from south to north. A long straight conductor carrying 2 A current is placed on a horizontal table
and the current goes from east to west. The force per unit length on the wire will be

1.15x10 Nm™
2.3%x10° Nm™
3.6Xx10° Nm™!
4.18x10°° Nm™!

Options :
6009641377. 1
6009641378. 2
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6009641379. 3
6009641380. 4

Question Number : 45 Question Id : 600964345 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
(il I R Udt o JFao 1 & BT & 90 3 175 7 ¢ 74 D! (G2 GIE0T & IR 1 3R ¢
forelt Ao Aol TR i v e T v ¢ forer O @ 0fdm 1 3R 2 A R W 61 %61 61 3
IR ®1 IR Ui TRl IR BT 9 gl

115x10° Nm™
23%x10°° Nm™!
3.6X10°° Nm™!
418x10°° Nm™
Options :
6009641377. 1
6009641378. 2

6009641379. 3
6009641380. 4

Question Number : 46 Question Id : 600964346 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The permeability of a paramagnetic substance, ; as compared to permeability of free space, y, is

1. > ly

2u» Hy

3. U< Ko

4u=p
Options :
6009641381. 1
6009641382. 2

6009641383. 3
6009641384. 4

Question Number : 46 Question Id : 600964346 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

el Srara I U] 1 G, , 7 AR B URIA, B o A 1l 6

1. u>p
2pu»
<y,
4= H,

Options :

6009641381. 1
6009641382. 2
6009641383. 3
6009641384. 4
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Question Number : 47 Question Id : 600964347 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The magnetic energy stored in a solenoid in terms of magnetic field B, cross sectional area A and
length [ of the solenoid is

1. B*Al/y,

2. BAI[2y,

3. E::-l.if,fzp.l]EI

4, E'AI,."pﬁ
Options :
6009641385. 1
6009641386. 2

6009641387. 3
6009641388. 4

Question Number : 47 Question Id : 600964347 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

D1 &7, B SR PIC &7, A TUI Wl [ & Tal ¥ forddt Uit # Sfad Traoid Sl gidl ¢

1. B*Al/p,
2. BAl/2y,
3. B%Al /2y,
4. BAl/p,

Options :
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6009641385. 1
6009641386. 2
6009641387. 3
6009641388. 4

Question Number : 48 Question Id : 600964348 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A transmission line feeds input power at 2200 V to a step down transformer having primary winding
of 1000 turns. To get the output power at 220 V, the number of turns in the secondary winding will
be

1.50
2.100
3.1000

4.10000

Options :

6009641389. 1
6009641390. 2
6009641391. 3
6009641392. 4

Question Number : 48 Question Id : 600964348 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Bl TRV @A 1000 BRI B WS FUgelt arel foredt ool CRIGITR &1 2200 V IR (d i &1
SR B 81 220 V R it idd W &t o foru foclias osll o Ul o1 S gl

1.50
2.100
3.1000

4.10000

Options :

6009641389. 1
6009641390. 2
6009641391. 3
6009641392. 4

Question Number : 49 Question Id : 600964349 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The wavelength range of ultraviolet rays is

1.< 107 nm
2. 700 nmto 1 mm
3. 400 nm to 700 nm

4.1 nm to 400 nm
Options :
6009641393. 1
6009641394, 2
6009641395. 3
6009641396. 4
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Question Number : 49 Question Id : 600964349 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

1.<107 nm
2.700 nm ¥ 1 mm
3,400 nm ¥ 700 nm

4.1 nm 3 400 nm

Options :

6009641393. 1
6009641394. 2
6009641395. 3
6009641396. 4

Question Number : 50 Question Id : 600964350 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A series LCR circuit is connected to an ac source of frequency 50 Hz. If the value of the inductor is
100 mH; for resonance, the value of the capacitor is (take 2 = 10 )

11 yF
210 yF
3. 100 uF
4. 1000 pF

Options :
6009641397. 1
6009641398. 2
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6009641399. 3
6009641400. 4

Question Number : 50 Question Id : 600964350 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
50 Hz 3f1afel o fobell i 4 I Uit LCR URTY Waiford §1 3 IR &1 HIF 100 mH 6, 1 3G &
foru Gy 1AM & (2 = 10 Wiy

1.1uF
2.10 pF
3. 100 pF

4,100 pF

Options :

6009641397. 1
6009641398. 2
6009641399. 3
6009641400. 4

Part B Chemistry

Section Id : 6009648

Section Number : 2

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 50

Number of Questions to be attempted : 50

Section Marks : 200

Display Number Panel : Yes

Group All Questions : Yes Page - 70
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Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 6009648
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 600964351 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1

Select the correct option for the structure of Iproniazid :

NH
Y 2
H
1.
H
D N\ /k
N
2 H
| "
7
N

NH»
3 HO

SO,NH

NH;

Options :
Page - 72
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6009641401. 1
6009641402. 2
6009641403. 3
6009641404. 4

Question Number : 51 Question Id : 600964351 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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SO,NH,

NH,

Options :
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6009641401. 1
6009641402. 2
6009641403. 3
6009641404. 4

Question Number : 52 Question Id : 600964352 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
What is the pH of normal rainwater?

1.109
2.1.0
3.5.6

4.84

Options :

6009641405. 1
6009641406. 2
6009641407. 3
6009641408. 4

Question Number : 52 Question Id : 600964352 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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T IO & pH TG 2

1.109
2.1.0
3.5.6

4.84

Options :

6009641405. 1
6009641406. 2
6009641407. 3
6009641408. 4

Question Number : 53 Question Id : 600964353 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match the polymer in Column-I with its application given in Column-II

Column-|

Column-lI

A. Polyvinyl chloride )

Wrapping material

B. Polystyrene 1}

Making electrical switches

C. Glyptal lIl.  Manufacture of lacquers and paints
D. Bakelite IV, Manufacture of raincoats
Select the correct option ;
1. A-l, B-Il, C-lIl, D-IV
2. A-IV, B, C-IlI, DI
3. A-IV, B-Il, CHI, D
4, A-1, B-IV, C-lI, -l
Options :

6009641409. 1
6009641410. 2
6009641411. 3
6009641412. 4

Question Number : 53 Question Id : 600964353 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Diew-| H G2 T ORI Piaw-11 ¥ 1S TT 3rfh TuaiT & i Siforg

CAREE HIGH-I
A UdfaEd dRigs ). 3 aeRad
B Ulferergdi I degd fRaall &1 faior
. frcrwd I, TR e U 3 Sfreifirs fmfor &
D. §hdllze V. A1 & fmfor A
i feu T fadedt A 9 gt IR gL

1. A<, B~II, C-IlI, D-IV

2. A1V, B-I, CHII, DI

3. A-IV, B-llI, C-I, D-

4. A-l, B-IV, C-lI, DIl
Options :

6009641409. 1
6009641410. 2
6009641411. 3
6009641412. 4

Question Number : 54 Question Id : 600964354 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following is the correct cyclic structure of b-D-(-)-fructofuranose?

(3
HOHC 0. OH
. Nu ol
H CH,0H
4 1
OH H

Page - 79
79/230



9/18/2020
Options :
6009641413. 1
6009641414. 2
6009641415. 3
6009641416. 4

Question Number : 54 Question Id : 600964354 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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B-D-(-)- JACTRIRFIIV 1 W i el e 9 Bivf-afl 67

i
HOH,C 0. OH
L 5K, 2
- CH,0H
4 1
OH H
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Options :
6009641413. 1
6009641414. 2
6009641415. 3
6009641416. 4

Question Number : 55 Question Id : 600964355 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Select the correct option for the one letter code for tryptophan, an amino acid.

1.7
2.P
3. H

4. W

Options :

6009641417. 1
6009641418. 2
6009641419. 3
6009641420. 4

Question Number : 55 Question Id : 600964355 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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QIR TRYS TCPTORH < foTC Up-31eR Tl IS & Wel 19 B

1.7
2P
3.H
4. W

Options :

6009641417. 1
6009641418. 2
6009641419. 3
6009641420. 4

Question Number : 56 Question Id : 600964356 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

For the following ions, choose the correct statement.

1. lll is the most stable in aqueous phase
2. |is the most stable in aqueous phase
3. lllis the smallest in size

4. Il'is the most stable in aqueous phase
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Options :
6009641421. 1
6009641422. 2
6009641423. 3
6009641424. 4

Question Number : 56 Question Id : 600964356 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

i ST & fog g1 e

L Ry Ry Il- R,TIJ!H
H R

1, wieit graey # 1) waffs fRR §)
2. e e H | waffie fRR |
3,11l TR H God BleT 2

4, iehtg e 7 || Gaffs RR 7

Options :

6009641421. 1
6009641422. 2
6009641423. 3
6009641424. 4

Question Number : 57 Question Id : 600964357 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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In the following reaction, what is A?

@
N:.zCl NEBF4 NO;

NaNDg
oF4 @ 2A heat i R

1. Cu

2 Pd

3. Cu(l)

4.5n
Options :
6009641425. 1
6009641426. 2

6009641427. 3
6009641428. 4

Question Number : 57 Question Id : 600964357 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Page - 85
85/230



9/18/2020

g i d A F g2

@
NzC' NEBH NO;

NaNUg
o @ 2A heat i

1. Cu
2.Pd
3. Cu(l)
4.5n

Options :

6009641425. 1
6009641426. 2
6009641427. 3
6009641428. 4

Question Number : 58 Question Id : 600964358 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
For the given organic reaction

NC
1. CgHsMgBr in ether
2.H0*

» A
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What is ‘A7

Options :

6009641429. 1
6009641430. 2
6009641431. 3
6009641432. 4
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Question Number : 58 Question Id : 600964358 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A e ol fog
NC

1. CgHsMgBr in ether
2.HO0*

AT
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Options :

6009641429. 1
6009641430. 2
6009641431. 3
6009641432. 4

Question Number : 59 Question Id : 600964359 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In the given organic reaction, what is A?

=
Lad
X
Ca
-
LS ]
: |
==
Lng
]
- L
-
=
=T}
+
£
-
]

1. NaOH
2. NaOdl
3. NaCl
4, Cl

Options :
6009641433. 1
6009641434. 2
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6009641435. 3
6009641436. 4

Question Number : 59 Question Id : 600964359 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

&g e sffea H A g 2

H H A H H

‘:&r - = + CHCh
H4C / CHj H4C ONa

0 0

1. NaCH

2. NaOCl
3. NaCl
4. Cl,

Options :

6009641433. 1
6009641434. 2
6009641435. 3
6009641436. 4

Question Number : 60 Question Id : 600964360 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Arrange the following compounds in increasing order of acidity.

Or OH OH OH
. NO; "
II- lli- | : V-
Z N0,

NO,
Select the correct option.
LI<ll<IV<I
2I< V<l <l
<<l <V
41<l<li<Iv
Options :

6009641437. 1
6009641438. 2
6009641439. 3
6009641440. 4

Question Number : 60 Question Id : 600964360 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Py e 5 el 3 o A e e

OH OH OH OH
NO;

NO,
NO,

el faded T

LI<ll <V <]l
21 <V <l <l
<<l <V
d1<ll<llF <V
Options :

6009641437. 1
6009641438. 2
6009641439. 3
6009641440. 4

Question Number : 61 Question Id : 600964361 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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What will be the product ‘A’ in the given organic reaction?

0...CHa

T
%

Options :
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6009641441. 1
6009641442. 2
6009641443. 3
6009641444. 4

Question Number : 61 Question Id : 600964361 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A & 18 e vl A S A RIS 2

0
NaBHs

UNC,CHg

o

Options : Page - 95
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6009641441. 1
6009641442. 2
6009641443. 3
6009641444. 4

Question Number : 62 Question Id : 600964362 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following compounds will be the most reactive towards Sy1 reactions?

Cl
1 H3C\|/CH3

CH;
Cl

Options :

6009641445. 1
6009641446. 2
6009641447. 3
6009641448. 4

Question Number : 62 Question Id : 600964362 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is ng&i(yg?
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Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Sy,1 I o Ul Y Q] o ¥ SH-w1 Gaive i grm

Cl
1 H3C\|/CH3

CH,
C

Options :

6009641445. 1
6009641446. 2
6009641447. 3
6009641448. 4
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Question Number : 63 Question Id : 600964363 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Select the correct option for the following structures of picric acid :

Q

HOOC OH

HOOC 0,
COOH

HO COOH
NO,

Page - 99
99/230



9/18/2020
Options :
6009641449. 1
6009641450. 2
6009641451. 3
6009641452. 4

Question Number : 63 Question Id : 600964363 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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R 3t ) e 5 g ) R g

OH
1. HO
HOOC OH
NO,
2.‘ OﬁAQ
HOOC NO,
COOH

3. HWCQ
HO COOH
NO,
-
HO  NO,

Options :
6009641449. 1
6009641450. 2
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6009641451. 3
6009641452. 4

Question Number : 64 Question Id : 600964364 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which of the following compounds is aromatic?

—
()

e

Options :

6009641453. 1
6009641454. 2
6009641455. 3
6009641456. 4
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Question Number : 64 Question Id : 600964364 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

i gl § 3 pH-aT WAl § 2

—
!\

4, /J

(=]

Options :

6009641453. 1
6009641454. 2
6009641455. 3
6009641456. 4

Question Number : 65 Question Id : 600964365 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
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Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Carius method is used for the quantitative analysis of

1. nitrogen
2. sulphur
3. halogen

4. phosphorous
Options :
6009641457. 1
6009641458. 2
6009641459. 3
6009641460. 4

Question Number : 65 Question Id : 600964365 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

i TR o 1 2 o e i o fofu o @i €7

1. A1gClvl

2. el

3, -EH? ul]

4, DRORY
Options :
6009641457. 1
6009641458. 2
6009641459. 3

6009641460. 4
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Question Number : 66 Question Id : 600964366 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
What is the nature of Lassaigne’s extract?

1. Neutral
2. Mild acidic

3. Strong acidic

4, Basic
Options :
6009641461. 1
6009641462. 2
6009641463. 3
6009641464. 4

Question Number : 66 Question Id : 600964366 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

R AR B IS AN 2

1, Uf-t I
2. 7G 3l
3, Jdd 3wty

4, 4RI

Options :
6009641461. 1
6009641462. 2
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6009641463. 3
6009641464. 4

Question Number : 67 Question Id : 600964367 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The asmotic pressure of equimolar solutions of sucrose, KCl and BaCl, will be in the order of

1. BaCl, < KCl < Sucrose
2. Sucrose < BaCl, < KCl
3. Sucrose > BaCl, > KCl
4. BaCly > KCl > Sucrose

Options :

6009641465. 1
6009641466. 2
6009641467. 3
6009641468. 4

Question Number : 67 Question Id : 600964367 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

1. BaCly < KCl < eI
2. 9PN < BaCl, < KCI
3, 4N > BaCly > KCl
4,BaCl, > KCI > GpIg

Options :
Page - 106
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6009641465. 1
6009641466. 2
6009641467. 3
6009641468. 4

Question Number : 68 Question Id : 600964368 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The mass of urea (NH,CONH,) required for making 2.5 kg of 0.25 molal aqueous solution is

1.3694¢
2.3694 g
3,377 ¢

43807 g

Options :

6009641469. 1
6009641470. 2
6009641471. 3
6009641472. 4

Question Number : 68 Question Id : 600964368 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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0.25 HIcTel el fderat @1 2.5 kg &1 1T 3Ta=ad ZRaT (NH,CONH,) &1 J1 gl

1369 g
23694 ¢
337279
43807

Options :

60096414609. 1
6009641470. 2
6009641471. 3
6009641472. 4

Question Number : 69 Question Id : 600964369 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The incorrect statement out of the following is

1. Temperature at which a real gas obeys ideal gas laws over an appreciable range of pressure is
Boyle temperature,

2. Compressibility factor is defined as the ratio of molar volume of the gas had it been ideal to the
actual molar volume of the gas.

3. Critical temperature of a gas is the temperature above which it cannot be liquefied no matter how

high the pressure is,
4. Critical pressure is the minimum pressure required to liquefy a gas at its critical temperature.

Options :
6009641473. 1

6009641474. 2 Page - 108
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6009641475. 3
6009641476. 4

Question Number : 69 Question Id : 600964369 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

79 5 8 e P |

1. 39 & e R W @ a7 ford TR aRalia 19 1G] 719 il ¢, dfa am gl

279 & ey g W 99 Hidlg Hdd a3 aRdfdd Al AEa & Hud & w U H
el o 1 ufveqfid B ¢

3,119 &1 Fifdd d1Y 9 1Y &, foreh SR 38 G4 Tel &1 off Wil ¢ e forciTl ¥l 3 <7
S|

4, T T 1 3 I T TR g e o forw e T i 7, il @ el

Options :

6009641473. 1
6009641474. 2
6009641475. 3
6009641476. 4

Question Number : 70 Question Id : 600964370 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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On the basis of the Maxwell-Boltzmann distribution of molecular speeds, identify the incorrect
statement in the following :

1. At the same temperature, N, molecules move faster than the Cl, molecules.

2. The maximum in the Maxwell-Boltzmann curve represents the most probable speed.

3. The average speed of CO; molecules is more than CHy molecules.

4. At a particular temperature, the individual speed of molecules keeps changing but the
distribution of speeds remains the same.

Options :

6009641477. 1
6009641478. 2
6009641479. 3
6009641480. 4

Question Number : 70 Question Id : 600964370 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

311U Tl & HAGA-GIecqHH g o SUR R 7 ¥ & 70 &2 3l Teae

1. T 1 a1 W Cl, 071 a1 H N, 0] el 5erd ¢

2. NG SecqHH a # S, Wicha avl &l G2l ¢

3, CO, U3 1 3t el CH, 3fpsfl ot iy 71fa & e gidh &1

4, U AR T W, S{paff o faflw (ot 1fa el gt § WReq A @1 ded 7l el ¢l

Options :
6009641477. 1
6009641478. 2

6009641479. 3
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6009641480. 4

Question Number : 71 Question Id : 600964371 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Match the following reactions in Column-I to the correct enthalpy associated with them given in

Column-II ;

Column-| Column-Il
A CgHy(l) +=0, +6C0,(g)+ 3H,0() | B H°
B. NaCl(s) - Na*(g)+ CI™(q) 1 BpygH°
C. AB(s) — A’ (aq)+B"(aq) I oaH |
D. A*(g)+B7(g) — A'(aq)+ B (aq) w. BgyH’

Choose the correct option from the following :

1. A-lll, B, C-IV, DAl

2. A-Ill, B, CHI, D-IV

3. A-ll, B, C-IV, DI

4. A-IIl, B-I, C-, D-IV
Options :

6009641481. 1
6009641482. 2
6009641483. 3
6009641484. 4

Question Number : 71 Question Id : 600964371 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is 95168@01“]1
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Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

A9 Sl (@Ta-) B 38 awald Tledt (@lam-I) § A Bif:

Bl BIH-I
15
A C.H, (1) +=-0, - 600,(g) +31,0() L Ay HE
B. NaCl(s) = Na*(g) + CI™(g) I. Ay gH
C. AB(s) - A" (aq)+B(aq) Il 8 He
D.A"(g)+ B™(g) ~A"(aq)+ B(aq) V.8, HC
A fou u faapeat # 9 el I U
1. A-lll, B-I, C-IV, DIl
2. A-lll, B, C-II, D-IV
3. A-ll, B-I, C-IV, Dl
4, A-Ill, B-1I, C-I, D-IV
Options :

6009641481. 1
6009641482. 2
6009641483. 3
6009641484. 4

Question Number : 72 Question Id : 600964372 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Choose the incorrect statement out of the following :

1. In a reversible process, the system and surroundings are always in equilibrium with each other.
2. Work done in a free expansion > 0.
3. For adiabatic change, Aqg=10.
4. For a process carried at constant pressure, AH = q,.
Options :
6009641485. 1
6009641486. 2

6009641487. 3
6009641488. 4

Question Number : 72 Question Id : 600964372 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

17 H 4 TTed Y BT 719 Dot

1, SpAviTg U o T UNE g I A 3G ¢
2. U6 1GR9 o Hd TR & o1 gl el > 0 gl
3, G U o ferg Ag=0

4 ROR T R 97 U U A & G, aH =g

Options :

6009641485. 1
6009641486. 2
6009641487. 3
6009641488. 4
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Question Number : 73 Question Id : 600964373 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
For the reaction, N,(g) + 3H,(g) = 2NH,(g) +22.2 keal the effect of increasing temperature and

pressure on the equilibrium will be
A. On increasing temperature, the reaction will go backwards.

B. On decreasing pressure, the reaction will go backwards.

C. On increasing temperature, reaction will go forward.
D. On increasing pressure, reaction will go backward.
Choose the correct pair of statements from the above,

1.CD
2AB
3.AD

4.8, C
Options :
6009641489. 1
6009641490. 2
6009641491. 3
6009641492. 4

Question Number : 73 Question Id : 600964373 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1 Page - 114
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UGBTI N, (g) + 3H, (g) = 2NHy (g) + 222 keal P (610 TIFG TR 10 1 ST I AGIH T 1A G
A, A0 §gA W, sfifgar uy fw i s

B. &1d e W, ififobar uy fewm 1

C. 1 G W, aif¥ichar 3 fem bl st

D. fd dg W, i fshar uy feum i i

SR # 9 ol F1 Fel I AT

1.C.D
2AB
3.AD
4.8,C

Options :

6009641489. 1
6009641490. 2
6009641491. 3
6009641492. 4

Question Number : 74 Question Id : 600964374 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The pH of a 1x10® mol/L solution of NaOH at 25 “C'is (Given : log 95 = 1.977)

1.7.10

2.1.02
3.6.98
4.690

Options :

6009641493. 1
6009641494. 2
6009641495. 3
6009641496. 4

Question Number : 74 Question Id : 600964374 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
25 °C TR NaOH & 1x10"8 mol/L e &1 pH &

(AT E - log 95 = 1977)

1.7.10
2.7.02
3.6.98
4.6.90

Options :

6009641493. 1
6009641494. 2
6009641495. 3
6009641496. 4
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Question Number : 75 Question Id : 600964375 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If the molar solubility of zirconium phosphate Zr3(PQ,), is S mol/L and its solubility product is K,

then the relationship between K, and § is

17

6912/
/7
2 =(i
P 6912
3 =(f‘_v)
6912
K\
Ls=(om)
5184
Options :

6009641497. 1
6009641498. 2
6009641499. 3
6009641500. 4

Question Number : 75 Question Id : 600964375 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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gfe forplie wihe Zr,(PO

s 1 HIR 97T S mol/L. @ 3o ¥ [dc URRLA K il K,
TS § S T g

Options :

6009641497. 1
6009641498. 2
6009641499. 3
6009641500. 4

Question Number : 76 Question Id : 600964376 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In which of the following compounds, none of the elements has a fractional oxidation number?

1. Na,$,0,
2. Mn,0,
3. C,0,
44,0,

Options :
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6009641501. 1
6009641502. 2
6009641503. 3
6009641504. 4

Question Number : 76 Question Id : 600964376 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

i gifte! | & fud ot ot 7 ot foraTes Sfafiavor 96T T8l § 2

1. Na,8,0,

2. Mn,0,

3 C;0,

4 HZDZ
Options :
6009641501. 1
6009641502. 2

6009641503. 3
6009641504. 4

Question Number : 77 Question Id : 600964377 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The standard Gibbs free energy for the following reaction is
Fe?* (aq)+Ag’ (aq) — Fe™ (aq)+Aq(s)

Given: Enhg*_-_&g =080V: E =077V EF 2. ==044V

FE3+ F E.*

1.-2.894 kJ/mol

2.-2.8% J/mol
3. - 239.287 kJ/mol
4.239.287 k)/mol

Options :

6009641505. 1
6009641506. 2
6009641507. 3
6009641508. 4

Question Number : 77 Question Id : 600964377 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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g siffan & for ae iy g 3ol @
Fe** (aq)+Ag"(aq) — Fe™(ag)+Ag(s)
Given: Eyg/pg=080V; ET e =01V, ET e o =-044V

1.-2.894 kJ/mol
2.~ 2.8% )/mol

3. - 239.287 kJfmol
4,239.287 kl/mol

Options :

6009641505. 1
6009641506. 2
6009641507. 3
6009641508. 4

Question Number : 78 Question Id : 600964378 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The molar conductance of a solution with conductivity 0.248 Sm~" and concentration 0.2 mol m™>

l%. 0.124 S cm? mol ™"
2.1.24 Smé mol™
3,124 S cm? mol™
4,124 Sm? mol™’

Options :

6009641509. 1 Page - 121
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6009641510. 2
6009641511. 3
6009641512. 4

Question Number : 78 Question Id : 600964378 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

TS [0 &1 F1aHa1 0248 S m~! T Il 0.2 mol m~3 8, T 3P AR Aqdd

Ul _
1.0.124 Scm? mol”

2.1.24Sm’ mol™’
3,124 S cm? mol™
4.124'S m? mol™

Options :

6009641509. 1
6009641510. 2
6009641511. 3
6009641512. 4

Question Number : 79 Question Id : 600964379 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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For a reaction, A+ B - products, the rate is doubled when the concentration of B is halved (keeping
[A] constant), while the rate is halved when the concentration of A is halved (keeping [B] constant),
The overall order of the reaction is

1.1
2.05
3.0

4.2
Options :
6009641513. 1
6009641514. 2
6009641515. 3
6009641516. 4

Question Number : 79 Question Id : 600964379 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

HFT 4 + B SG P Y ([A) P AR T GU) 79 B B Azl ool 5w ) ol &, fopa
G g1 Ol & 3 ( [B) 1 R T GU) W16 A 1 Wit oneft v &l okt €, fop ot & oot gt
A 81 I AR W A 3t Fife

1.1
2.05
3.0
4.2

Options :

6009641513. 1 Page - 123
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6009641514. 2
6009641515. 3
6009641516. 4

Question Number : 80 Question Id : 600964380 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a graph of a first-order reaction of R = P?

rata In[R] log[R},R] P Y

fime fime _ time Rl

Choose the correct option from the following :

1.a
2D
3.¢
4.d

Options :
6009641517. 1
6009641518. 2
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6009641519. 3
6009641520. 4

Question Number : 80 Question Id : 600964380 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

(78 A -1 A BIfe AHHT p 5 p FITH TR G 2
s
P n[R] ing RlyR

0 9 el fasbed Ifu:

1.a.
2.b.
3.C
4.4,

Options :

6009641517. 1
6009641518. 2
6009641519. 3

lys

[R]
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6009641520. 4

Question Number : 81 Question Id : 600964381 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The process of removing ions (or molecules) from a sol by diffusion through a permeable membrane

is called

1. Ultrafiltration
2. Dialysis

3. Electrophoresis
4. Osmosis

Options :

6009641521. 1
6009641522. 2
6009641523. 3
6009641524. 4

Question Number : 81 Question Id : 600964381 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

U TRV foyeet] © BN TR0l a1 (ol et & o] (310p3fh) 1 §e b Wb B! ol 9Tl

1.3@&&“@%{%@ ﬁivéﬂ:lj
2. HUIE (STaferi)

s S

4, TRIERT (1)
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Options :
6009641521. 1
6009641522. 2
6009641523. 3
6009641524. 4

Question Number : 82 Question Id : 600964382 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
When NaCl solution is added to a solution of AgNO,, the AgCl sol produced is

1. Negatively charged due to the adsorption of NO5™ ions.
2. Negatively charged due to the adsorption of CI™ ions.
3. Positively charged due to the adsorption of H™ ions.

4. Positively charged due to the adsorption of Ag™ ions.
Options :
6009641525. 1
6009641526. 2
6009641527. 3
6009641528. 4

Question Number : 82 Question Id : 600964382 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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W1d NaCl faera @i AQNO, b fderart # e ol &, ot W g1 arel AgCl

1. NO;~ 3Tt & SIS 3 PRI FHOTARI gl @
2. CI~ A & S & HRU BURRG 6l &
3, H* 3l & N & SRYT AR il ¢
4, Ag* STl 3 SHTRIRINUT & BRI ¢TI gl &
Options :

6009641525. 1

6009641526. 2

6009641527. 3
6009641528. 4

Question Number : 83 Question Id : 600964383 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Temperature 23 °F is equal to in °C.

145

2-95

3+1

4.-7
Options :
6009641529. 1
6009641530. 2

6009641531. 3
6009641532. 4

Question Number : 83 Question Id : 600964383 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
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Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

T 23 F g (°CH)

1.+5

2.-5

3.+17

4.-1
Options :
6009641529. 1
6009641530. 2

6009641531. 3
6009641532. 4

Question Number : 84 Question Id : 600964384 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In face-centred cubic (fcc) structure, each sphere is in contact with spheres.

1.6
2.8
3.12

4.4
Options :
6009641533. 1
6009641534. 2
6009641535. 3
6009641536. 4
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Question Number : 84 Question Id : 600964384 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

eih- b1l TG (fec) SR H Yl TTel febrt Tl o b H &7 2

1.6
2.8
3.12

4.4

Options :

6009641533. 1
6009641534. 2
6009641535. 3
6009641536. 4

Question Number : 85 Question Id : 600964385 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A 50-watt bulb emits monochromatic yellow light of wavelength of 0.60 ym. The number of photons

emitted per second by the bulb is

1.23 x 10%
2.1.1x 10"
3,18 x 10"
4,15 x 109

Options :

6009641537. 1
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6009641538. 2
6009641539. 3
6009641540. 4

Question Number : 85 Question Id : 600964385 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

50 41C &1 U dcd 0.60 um dIGE] &1 Thavll Urell Y Sedivid &3l gl ded gRI Scaiid Ufd
UHUg BIcH! & GE1 gl

1.2.3 x 107
2.1.1x 10"
3,18 x 10"

4,15 x 10%
Options :
6009641537. 1
6009641538. 2
6009641539. 3
6009641540. 4

Question Number : 86 Question Id : 600964386 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Electron gain enthalphy of elements in decreasing order of magnitude is

1. F>5>0:0
2. F>0>5>(|
3.CI>F>S$>0

4.CI>F>055
Options :
6009641541. 1
6009641542. 2
6009641543. 3
6009641544. 4

Question Number : 86 Question Id : 600964386 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

vl &1 gaidei alel Tl o URHI T 9o 6 ¢

1. F>5>0x0
2. F>0>5>(
3.CI>F>S$>0

4. CI>F>0>S

Options :

6009641541. 1
6009641542. 2
6009641543. 3
6009641544. 4

Question Number : 87 Question Id : 600964387 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
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Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match the rule/theory in column-| with their scientists, who proposed them given in column-Il ;

Column-| Column-Il
A Octet rule |. Heitler-London
B. Covalent bond |I. Kossel-Lewis
C. Valence-bond theory lIl. Hund-Mulliken
D. Molecular orbital theory V. Langmuir

Select the correct option :

1. A-lI, B-III, C-IV, D-|
2 A-lll, B-IV, C, DI
3. A=V, B, C-II, DIl

4, A-ll, B-IV, C-, DI
Options :
6009641545. 1
6009641546. 2
6009641547. 3
6009641548. 4

Question Number : 87 Question Id : 600964387 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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i1 UL el vl 1 -1 4 g 70 32 TRaad e arel ! @ aferd ifoie

F

PIH- PIH-I
A, 39 fAaH |, GIgCeR-aa

B. GG 3G I, BTG 7l T2

C. Gaorbd-afe Rigrd Il BUE 1 i
D. U] b gl v, TR

i fGU T fdeped ﬁﬁﬂﬁﬂﬂ?iﬁlﬂz

1. A-1l, B-IIl, C-IV, D-|
2. A-lIl, B-IV, C, DI
3. A-IV, B, C-I, DIl
4. A-ll, B-IV, C-I, D-IV
Options :
6009641545. 1
6009641546. 2

6009641547. 3
6009641548. 4

Question Number : 88 Question Id : 600964388 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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At atmospheric pressure, ice crystallises in the X form, however it condenses to ¥ form at lower
temperature. What are X and ¥?

1.X = cubic, Y = hexagonal
2. X = cubic, Y = cubic
3. X = hexagonal, ¥ = hexagonal
4. X = hexagonal, Y = cubic
Options :
6009641549 1
6009641550. 2

6009641551. 3
6009641552. 4

Question Number : 88 Question Id : 600964388 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
a3 R a6 X ¥ 1 foeferd gl ¢ i (9 a1 R ag v ® 9 H 9aid Sl g1 X au v
87

1.X =Yg, v = Yoy
2.X =" Y ="
3.X = Yol v = weahiiig
4 X = edinity, v = i
Options :
6009641549. 1

6009641550. 2

6009641551. 3 Page - 135
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6009641552. 4

Question Number : 89 Question Id : 600964389 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The most abundant cation within cell fluids which participates in the oxidation of glucose to produce
ATP is

1. sodium ion

2. magnesium ion
3. potassium ion
4. calcium ion

Options :

6009641553. 1
6009641554. 2
6009641555. 3
6009641556. 4

Question Number : 89 Question Id : 600964389 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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BIRHT (Ge) 59 & e dgdrd I e vl o, ol ATP 0a1 &l 1 Wlel & St § yi
e,

1.9 SUH A4
2. HUIRITH A
3, UiefRgy 3mH
4, i 3
Options :
6009641553. 1
6009641554. 2

6009641555. 3
6009641556. 4

Question Number : 90 Question Id : 600964390 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match the elements in column-I with their ore in column-Il :

Column-| Column-I
A. Boron . Kernite
B. Aluminium Il. Galena
C. Tin lIl. Cryolite
D. Lead V. Cassiterite

Select the correct option :

1. A-lI, B-IlI, C-IV, D-|

2. A1, B-lIl, C-IV, DI

3. A-IV, B, C-I, D-IIl

4, A-ll, B-IV, C-, DI
Options :

6009641557. 1
6009641558. 2
6009641559. 3
6009641560. 4

Question Number : 90 Question Id : 600964390 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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DIqH-| H 14T 70 ! I Piew-11 # ST T 37 3raeep! & Grferd pifort:

e v

HIaH- HIH-|
A RI | drlige

B, UeyHifgm I, e

C.feq Il orTeTge

D. 1S IV, BECREE

i feu T fadedt 9 &gl SR U

1. A-ll, B-lll, C-IV, D-

2. A-l, B-IIl, C-IV, D-ll

3. A-IV, B~I, C-I, DIl

4. A-Il, B-IV, C-I, DI
Options :

6009641557. 1
6009641558. 2
6009641559. 3
6009641560. 4

Question Number : 91 Question Id : 600964391 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Water gas and producer gas are respectively

1.C0+H, and CO+N;,
2. COE + HE and (O + Ng
3.C0+H; and COy+ Ny
4 COE + Hg- and CC‘; + N;_a

Options :

6009641561. 1

6009641562. 2

6009641563. 3
6009641564. 4

Question Number : 91 Question Id : 600964391 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

WIT- 3R 79 (@1eR 719) a1 a7- 3R 719 (FISTER 19) ¢, HHk:

1.CO + H,d41CO + N,

2.CO; + Hy d4TCO + N,
3,C0 + H, @1 CO, + N,
4, C'Dg + H;-HUI CO; + Ng

Options :

6009641561. 1
6009641562. 2
6009641563. 3
6009641564. 4
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Question Number : 92 Question Id : 600964392 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In the froth floatation process, which one of the following can be used as froth stabilizer?

1. Pine ol
2. Fatty acid
3. Xanthate

4. Aniline
Options :
6009641565. 1
6009641566. 2
6009641567. 3
6009641568. 4

Question Number : 92 Question Id : 600964392 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Usef il Yo 9 1 et Il o 0 ¥ Tt fob] off it § 7

1, 418 &1 dd (U1 )

2. Bl uis

3, uiYe

4, UTe
Options :
6009641565. 1
6009641566. 2
6009641567. 3
6009641568. 4
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Question Number : 93 Question Id : 600964393 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

At elevated temperature (~1000 K), sulphur exists as

1.5
2.
3.5,
4.

Options :

6009641569. 1
6009641570. 2
6009641571. 3
6009641572. 4

Question Number : 93 Question Id : 600964393 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
IS (~1000 K) T Telb? [ &1 # Al 2

1.5
2.
3,5,
4

Options :
6009641569. 1

6009641570. 2 Page - 142
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6009641571. 3
6009641572. 4

Question Number : 94 Question Id : 600964394 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Among the given halides, which one is the least covalent?

1, SbCls
2.5nCl,
3,5nCly

4. PbCly
Options :
6009641573. 1
6009641574. 2
6009641575. 3
6009641576. 4

Question Number : 94 Question Id : 600964394 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

g el 3 4 -9 3icTa Feddior g 2

1, SbCls
2.5nCl,
3,5nCly

4. PbCly

Options :
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6009641573. 1
6009641574. 2
6009641575. 3
6009641576. 4

Question Number : 95 Question Id : 600964395 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match the compounds in column-| with their geometry given in column-II

Column-| Column-Il
A, XeO; . Distorted octahedral
3. XeOF, I Square pyramidal N
C. XeFg lIl. Square planar
D. XeF, V. Pyramidal

Select the correct option :

1. A-IV, B-Ill, C-lI, D-|
2. A-lll, B-IV, C, DI
3. A-IV, B-I, C-, DIl
4. A-ll, B-IV, C, DI

Options :

6009641577. 1
6009641578. 2
6009641579. 3
6009641580. 4
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Question Number : 95 Question Id : 600964395 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

HIcTH-| H G 0 AT Bl Bicr-1| 3 & 7 T 8 ofcrd Hifore

BIH- CARLE]
A XeO; | [dpd sPHadly
B. XeOF, I 3 Rl
C. XeFe Il 3 erell
D. XeF, VANEE

i fGuu fqdedt 99 g8 IR g

1. A-IV, B-lll, C-II, D
2. AT, B-1V, C, DAl
3. A-IV, B-II, C-I, DIl
4. A-ll, BV, C-, DI

Options :

6009641577. 1
6009641578. 2
6009641579. 3
6009641580. 4

Question Number : 96 Question Id : 600964396 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following fluoride is not known?

1. CFF&
2. MnFg
3. MnF4

4, Crks
Options :
6009641581. 1
6009641582. 2
6009641583. 3
6009641584. 4

Question Number : 96 Question Id : 600964396 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

RO H A PH-G RRGE TId Tl 6 ?

1. CFF,E
2. MnF¢
3. MnFy4

4. Crfs

Options :

6009641581. 1
6009641582. 2
6009641583. 3
6009641584. 4

Question Number : 97 Question Id : 600964397 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Qé'ﬁétiof%
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Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

In the given statements, which is not true for an interstitial compound?

1. Retains metallic conductivity

2. Very hard

3. High melting point, lower than those of pure metals
4. Chemically inert

Options :

6009641585. 1
6009641586. 2
6009641587. 3
6009641588. 4

Question Number : 97 Question Id : 600964397 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

et il & a1 A Fgfafad 7 § oH-91 544 Tel el o7

1, q e bl PO T
2 TTEAPOR T
3, 1 T G G ¢ el 9 9 90 g 3 e gt ¢
4, 4 % g fftpa g
Options :
6009641585. 1
6009641586. 2

6009641587. 3
6009641588. 4
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Question Number : 98 Question Id : 600964398 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The correct electronic configuration of Ytterbium (Yb) whose atomic no. is 70, is

1. [Xe]4f'25d%6s?
2. [Xe]4f"“5d%6s"
3, [Xe]4f'*5d"6s"
4, [Xe]4f'"*5ds’
Options :
6009641589. 1
6009641590. 2

6009641591. 3
6009641592. 4

Question Number : 98 Question Id : 600964398 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

sefdam (vb), fora! TRA T 70 €, F1 96! el faarg g

1. [Xe]4f'25d26s?

2. [Xe]4f'"“5d%6s"

3. [Xe]4f'*5d'6s’

4, [Xe]df'*5d6s°
Options :

6009641589. 1

6009641590. 2
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6009641591. 3
6009641592. 4

Question Number : 99 Question Id : 600964399 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Choose the correct increasing order of the ligands on the basis of splitting of d orbitals.

1, edta® < NH; < CN" < en
2.en < edta® < NH; < CN
3, edta® < NH3 < en < CN°
4. en < NH; < edta™ < CN”

Options :

6009641593. 1
6009641594. 2
6009641595. 3
6009641596. 4

Question Number : 99 Question Id : 600964399 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

4-BED & [9UTc b YR R fefe] (el 1 g) Sgal 4 T

1.edta* < NH; < CN" < en
2.en < edta® < NH; < CN
3, edta® < NH; < en < CN°

4, en < NH; < edta™ < CN”

Options :
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6009641593. 1
6009641594. 2
6009641595. 3
6009641596. 4

Question Number : 100 Question Id : 600964400 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
d-orbital splitting in a tetrahedral crystal field is

2/5)A; above barycentre and (3/5)4; below barycentre
2/5)A, above barycentre and (3/5)4, below barycentre
2/5)A; below barycentre and (3/5)4; above barycentre

[
(
[
(2/5)4\, below barycentre and (3/5)A, above barycentre

1.
2
3
4,
Options :

6009641597. 1
6009641598. 2

6009641599. 3
6009641600. 4

Question Number : 100 Question Id : 600964400 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Page - 150
150/230



9/18/2020

TqHADH e & H o-Fef faure ¢

1. B%d & (2/5)0, PR AU G5 & (3/5)4 "
2. G & (2/5), FW AU s & (3/5)4, A4
3, b b (2/5)A I qUI Dsd b (3/5)A FW
4, H5d B (2/5)A, I T H5d $ (3/5)4, TR

Options :

6009641597. 1
6009641598. 2
6009641599. 3
6009641600. 4

Part C Biology

Section Id : 6009649
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 6009649
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 600964401 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

Metastasis is the process of

1. Excessive cell proliferation
2. Transformation of benign tumors into malignant tumors
3. Movement of cancerous cell from one site to another site of the body

4. Transformation of a normal cell into a tumorous cell
Options :
6009641601. 1
6009641602. 2
6009641603. 3
6009641604. 4

Question Number : 101 Question Id : 600964401 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
HUETIRY HighdT o

1, 3 FIRF ls

2. 671t R 1 e # Ui
3, e AT BIRT B T R 3 TR A G R R I
4, T IR 1 AR I § URacH

Options :

6012)9641601. 1

6009641602. 2

6009641603. 3
6009641604. 4
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Question Number : 102 Question Id : 600964402 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Bioactive molecule Cyclosporin A, used as an immunosuppressive agent in organ-transplant patient,
is produced by

1. Monascus purpureus

2. Aspergillus niger

3. Trichoderma polysporum
4. Clostridium butylicum

Options :

6009641605. 1
6009641606. 2
6009641607. 3
6009641608. 4

Question Number : 102 Question Id : 600964402 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

37T AR H TiRAT SfaRID, Wid Fich GEaaRaRi-A THd Ui g A W gl 8

1, JNHd W
2. Bgifora 5
4, TR qerafadH

Options :
6009641605. 1
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6009641606. 2
6009641607. 3
6009641608. 4

Question Number : 103 Question Id : 600964403 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Select correct combinations
A. Water Potential = Solute Potential + Pressure Potential

B. Respiratory quotient (RQ) = Volume of CO; evolved/Volume of CO, consumed

C. DNA | Translation mRNA | Transcription | protejn

D. Population density at time Ni,1 = Ny + [(B + 1) = (D + E]]

E. GPP-R = NPP(Net Primary Productivity)
Choose the correct answer from the options given below:

1.A B, Conly
2.C, D, Eonly
3.A D, Eonly
4.A C Eonly
Options :
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6009641609. 1
6009641610. 2
6009641611. 3
6009641612. 4

Question Number : 103 Question Id : 600964403 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A. 51 Q1T = Eiege et + S Ui

b, sEBR RQ)- CO, 1 I T

CO, 1 WG 3/
c TR Cifehe
" DNA » mRNA » UIEH

D, SITEE U9 GHY R Nisq = Ny + [(B+1) - (D+E)]
E. GPP - R = NPP (Net Primary Productivity)

feu 0 fdepedl ¥ 4 Ul TR

1.3dd A, B 3R C
2,594 C,D, ARE
3,590 A D, IRE
4% A C INE

Options :

6009641609. 1
6009641610. 2
6009641611. 3
6009641612. 4

Question Number : 104 Question Id : 600964404 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

List | List Il
A. Mendelian Disorder | I. Chromosomal Theory of Inheritance
B. Alfred Sturtevant II. Klinefelter's Syndrome

C. Chromosomal

III. Cystic fibrosis
Disorder =

V. Used the frequency of recombination between
the gene pair in the same chromosome

D. Sutton and Boveri

Choose the correct answer from the options given below:

LA B Gl D-V
AL BV Gl Dl
3AIV - Bl G D

4. A-ll B-Il  C D-IV
Options :
6009641613. 1
6009641614. 2
6009641615. 3
6009641616. 4

Question Number : 104 Question Id : 600964404 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Tl -1 1 -1 3 g aife

it -l Tt -l
A, Houlla fegaiiee | ZoC4 1R g
B, el AT I, TG Rigm
C. TR fegaiisr ]nﬁﬁ%uﬂs@ﬁﬂ
D. e YT gl W.mgﬁgﬁaﬂw
A4 fGU U fadpedt ¥ ¥ Hgl IR AU
LAl Bl Cl DV
2A BNV Gl DA
3ANV Bl Cl D
LA Bl G-I DV
Options :

6009641613. 1
6009641614. 2
6009641615. 3
6009641616. 4

Question Number : 105 Question Id : 600964405 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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In adult animal, most of the cells appear to exhibit division except

1. Liver cells

2. Spleen cells
3. Blood cells

4. Heart cells
Options :
6009641617. 1
6009641618. 2
6009641619. 3
6009641620. 4

Question Number : 105 Question Id : 600964405 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Hga: g o arfaRad @4t SIRIGIT aRpT H fawTor 1 Yaiid #dl ¢ |

IRCTEAILED]
2. i PIIDT
3, T DI
4, 30 B!

Options :

6009641617. 1
6009641618. 2
6009641619. 3
6009641620. 4

Question Number : 106 Question Id : 600964406 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Which one of the following is a defining feature of all the living organisms without exception?

1. Reproduction

2. Metabolism

3. Growth

4. Both 1and 2
Options :
6009641621. 1
6009641622. 2

6009641623. 3
6009641624. 4

Question Number : 106 Question Id : 600964406 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

5 5 DM U ol & e R § a1 3991 Bl HUAG Tl o7

1, Yo
2, U Yl

3
4,1 3R 2

Options :
6009641621. 1
6009641622. 2

6009641623. 3
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6009641624. 4

Question Number : 107 Question Id : 600964407 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A woman is tested for hemoglobin level in her blood and reports showed that the level of Hb is 9
gm in 100 ml of blood. It indicates

1. Normal level
2. More than normal level
3. Less than normal level

4, Very less than normal level

Options :

6009641625. 1
6009641626. 2
6009641627. 3
6009641628. 4

Question Number : 107 Question Id : 600964407 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

e Higal & Tad H gl &1 %R 9 A Ui 100 FALeH, Or oI €1 9% SR

1, W &R

2. G 4 o &R

3, YR Y &R

4, 4 4 o5 9 &R
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Options :
6009641625. 1
6009641626. 2
6009641627. 3
6009641628. 4

Question Number : 108 Question Id : 600964408 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement | : When the two species are morphologically almost identical but do not normally
interbreed, such species are sibling species.

Statement Il : A sub population becomes reproductively isolated in the midst of its parent
population. This is allopatric speciation.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both statement | and statement Il are true

2. Both statement | and statement Il are false
3. Statement | is correct but statement Il is false

4, Statement | is incorrect but statement Il is true
Options :
6009641629. 1
6009641630. 2
6009641631. 3

6009641632. 4 Page - 162
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Question Number : 108 Question Id : 600964408 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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4. T | 8 § Al Y 11 9 8

Options :

6009641629. 1
6009641630. 2
6009641631. 3
6009641632. 4

Question Number : 109 Question Id : 600964409 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Arrange the following according to cell organisation.

A. Animalia

B. Monera

C. Fungi

D. Plantae

E. Protista

Choose the correct answer from the options given below

.D=-B-A=E=C
2B-E-C-D=-A
3B-E-D-C-A
4A-D-C-E-B

Options :

6009641633. 1
6009641634. 2
6009641635. 3
6009641636. 4

Question Number : 109 Question Id : 600964409 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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i &1 BIRHH T & STHR el 5 R B
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1.D=-B-A-E=C
2B=-E=-C-D=-A
3B-E-D-C-A
4A-D-C=E=B
Options :
6009641633. 1
6009641634. 2

6009641635. 3
6009641636. 4

Question Number : 110 Question Id : 600964410 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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If your blood group is not agglutinated with monoclonal anti-A and anti-B while testing in a lab to
determine your blood group, which of the following reasons is correct?

1. No antigens - A & B is present
2. Only antigen - A is present
3. Antigen - B is present

4, Both antigens - A & B are present

Options :

6009641637. 1
6009641638. 2
6009641639. 3
6009641640. 4

Question Number : 110 Question Id : 600964410 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1, Bl U A qU1 B Tgl

2. Baq UetaH A JuRd

3, Ueto B ufeud

4, %1 Ut A U1 B SUfesd

Options :

6009641637. 1
6009641638. 2
6009641639. 3
6009641640. 4
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Question Number : 111 Question Id : 600964411 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Eubacteria can fix atmospheric nitrogen in specialized cells called

1. Heterocysts

2. Chlorophyll
3. Sporozoan
4. None of above

Options :

6009641641. 1
6009641642. 2
6009641643. 3
6009641644. 4

Question Number : 111 Question Id : 600964411 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
g-affcelvaT ARHUS T AGCIoN BI RR @R o (1Y SIS 1 W FXd &, d deald! ¢

1. gediRRe

2. FiRItha

3, TRIVI

4, IRIF H Y Bl Tol
Options :

6009641641. 1
6009641642. 2
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6009641643. 3
6009641644. 4

Question Number : 112 Question Id : 600964412 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following combinations of factors affect enzyme activity?

A. Salinity & pH

B. Temperature

C. Concentration of substrate

D. Temperature & pH

E. pH

Choose the correct answer from the options given below:

1. Aonly
2.8 only
3.C&Donly

4. A 8B only

Options :

6009641645. 1
6009641646. 2
6009641647. 3
6009641648. 4

Question Number : 112 Question Id : 600964412 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A9 7 4 P1-91 GG Uy o Tffafe 1 wfad dv 87
A, S0l @ pH

B, UM

C. goke I Al

D. Al A1 pH

E. pH

Al S0 U fqdedl # 4 Tl TR -

1.%4d A

2. % B

3, 54d C3RD

4 had AN B
Options :
6009641645. 1
6009641646. 2

6009641647. 3
6009641648. 4

Question Number : 113 Question Id : 600964413 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List | List Il
A. Frederick Griffith |. DNA replicate semi-conservatively

B. Alfred Hershey & Martha chase | II. Cell-free system for protein synthesis

C. Matthew Meselson & Frank Stahl | Ill. Transforming principle
D. Marshall Nirenberg V. DNA-Genetic material

Choose the correct answer from the options given below:

1. Al B-V G-I Dl
2. Al B-l  Cl - DIV
3. A-l B- GV DAl
4. A-IV B-l - C D-ll

Options :

6009641649. 1
6009641650. 2
6009641651. 3
6009641652. 4

Question Number : 113 Question Id : 600964413 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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C. Ty TiISTeR ay1 B eI, CREBITET Rigia

D. AT frRal

IV. DNA-3dR1e e

A feg g fadbedt # @ Wl IR L

1. Al B-V  C

2. Al B-Il C-lll

3. A-ll B-ll C-IV

4. A-IV Bl C
Options :

6009641649. 1
6009641650. 2
6009641651. 3
6009641652. 4

D-ll
D-IV
D-|
D-Il

Question Number : 114 Question Id : 600964414 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following processes is involved to control parasite Meloidogyne incognita?

1. Process based on chemical control
2. Process based on RNA interference
3. Toxin coded by a gene CrylAc

4. Recombinant DNA-technology

Options :

6009641653. 1
6009641654. 2
6009641655. 3
6009641656. 4

Question Number : 114 Question Id : 600964414 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
15 ¥ DM a1 Wil ArzeTorsd 3-piaer o (e H e o1 ol 67

1, D Ahr wichan

2. 3R U, U, 3038 S14IRd fordll
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Options :

6009641653. 1
6009641654. 2
6009641655. 3
6009641656. 4
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Question Number : 115 Question Id : 600964415 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The process in which all living organisms can be classified into different taxa is

1. Taxonomy
2. Nomenclature
3. Identification

4. Classification
Options :
6009641657. 1
6009641658. 2
6009641659. 3
6009641660. 4

Question Number : 115 Question Id : 600964415 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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3, JedHId
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Options :

6009641657. 1
6009641658. 2
6009641659. 3
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6009641660. 4

Question Number : 116 Question Id : 600964416 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following combination is correctly related to ECG?

A. Itis a graphical representation of electric activity
B. Each peak is identified with a letter

C. Each peak is identified with numbers

D. Multiple leads are attached to the chest region

E. Single lead is attached to the chest region
Choose the correct answer from the options given below:

1.A&Eonly
2.8,C, Donly
3.A B, Donly
4. A only

Options :

6009641661. 1
6009641662. 2
6009641663. 3
6009641664. 4

Question Number : 116 Question Id : 600964416 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009641661. 1
6009641662. 2
6009641663. 3
6009641664. 4

Question Number : 117 Question Id : 600964417 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following combination is correct in response to plastids?

A. Amyloplasts store carbohydrates

B. Leucoplasts give red color to the plant

C. Xanthophyll gives yellow, orange colors to parts of plant

D. Carotenoid pigments are responsible for trapping light energy

E. Chlorophyll gives red color

Choose the correct answer from the options given below:

1.A 8B only
2.A,C Donly
3.A,B,C, Donly
4, A& D only

Options :

6009641665. 1
6009641666. 2
6009641667. 3
6009641668. 4

Question Number : 117 Question Id : 600964417 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009641665. 1
6009641666. 2
6009641667. 3
6009641668. 4

Question Number : 118 Question Id : 600964418 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements

Statement | : The process of transcription in eukaryotes with additional complexities. There are at
least three RNA polymerases in the nucleus with clear cut division of labor. The RNA polymerase |
transcribes rRNAs. Whereas the RNA polymerase lll is responsible for transcription of tRNA, 55 rRNA
and snRNAs. The RNA polymerase Il transcribes precursor of mRNA and hnRNA.

Statement |l : The primary transcripts contain both the exons and introns are non-functional. It is
subjected to a process of splicing whereas the introns are removed and exons are joined in a defined
order. hnRNA undergoes additional processing called as capping and tailing.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both statement | and statement |l are true

2. Both statement | and statement Il are false

3. Statement | is correct but statement Il is false
4. statement | is incorrect but statement Il is true

Options :

6009641669. 1
6009641670. 2
6009641671. 3
6009641672. 4

Question Number : 118 Question Id : 600964418 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Options :

6009641669. 1
6009641670. 2
6009641671. 3
6009641672. 4

Question Number : 119 Question Id : 600964419 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Astertas lacks a specific locomotory, respiratory and food capturing organs but it can carry these
functions by a unique system of

1. Syconoid canal system
2. Water vascular system
3. Metamerism

4. Segmentation

Options :

6009641673. 1
6009641674. 2
6009641675. 3
6009641676. 4

Question Number : 119 Question Id : 600964419 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
6009641673. 1
6009641674. 2
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6009641675. 3
6009641676. 4

Question Number : 120 Question Id : 600964420 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The phenomenon that prevents precocious reproductive development late in the growing season of
plant is

A. Vernalisation

B. Thermoregulators

C. Photoreceptors

D. Seed dormancy

E. Plant inhibitors

Choose the correct answer from the options given below:

1. Conly
2. Aonly
3. D only

4.E & B only

Options :

6009641677. 1
6009641678. 2
6009641679. 3
6009641680. 4

Question Number : 120 Question Id : 600964420 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Page - 181
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Correct Marks : 4 Wrong Marks : 1
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Options :

6009641677. 1
6009641678. 2
6009641679. 3
6009641680. 4

Question Number : 121 Question Id : 600964421 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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In our body, the excess of nutrients are converted into fats and stored in the following tissue

1. Adipose tissue

2. Areolar tissue

3. Specialized connective tissue
4. Dense connective tissue

Options :

6009641681. 1
6009641682. 2
6009641683. 3
6009641684. 4

Question Number : 121 Question Id : 600964421 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009641681. 1
6009641682. 2
6009641683. 3
6009641684. 4
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Question Number : 122 Question Id : 600964422 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Arrange the following stages of lake succession in correct order.

A. Lake's fertility increases, plant & animal life burgeons and organic remains begin to be deposited
on the lake bottom

B. Pollutants from the man’s activities like effluents from industries and home radically accelerate
the aging

C. With time, streams draining into lake introduce the nutrients, encourage the growth of active
organisms

D. As silt and organic debris pile up lake grows slower and warmer, marsh plant takes roots in
shallows begin to fill basin, gives way to large masses of bog, converting into land

E. Natural aging of lake by nutrients enrichment of its water

Choose the correct answer from the options given below

1.A-C-E-D-B
2E-C-A-D-B
3A-C-E-D=B
4C-A-E-D-B

Options :

6009641685. 1
6009641686. 2
6009641687. 3
6009641688. 4
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Question Number : 122 Question Id : 600964422 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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3JA-C-E-D-B
4C-A-E-D-B
Options :
6009641685. 1
6009641686. 2
6009641687. 3
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6009641688. 4

Question Number : 123 Question Id : 600964423 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

List | List Il

A. Devonian period |I. First vertebrate and marine algae abundant

B. Pliocene period | II. Gymnosperms continue as dominant plants & first birds

D. Jurassic period | IV. Ape like ancestors of human appear

C. Ordovician period |lll. Diversification of bony fishes & first amphibian dominant

m—

Choose the correct answer from the options given below:

1. AV B- - C1 Dl

2. Al B-Iv. - Cl Dl

3. A-ll B-l  C-l D-IV

4, A-lll B-Iv. G-I Dl
Options :

6009641689. 1
6009641690. 2
6009641691. 3
6009641692. 4

Question Number : 123 Question Id : 600964423 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. A-IV B-l - G-I D-ll

2. A-lll B-vV  Cll DAl

3. A-ll B-Il C-l D-IV

4. Al B-V  CI Dl
Options :

6009641689. 1
6009641690. 2
6009641691. 3
6009641692. 4

Question Number : 124 Question Id : 600964424 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List 1 with List Il

List | List Il
A. Wheat - Himgiri |. Black rot and Curl
B. Brassica - Karan rai Il. Bacterial blight
S(;.ufbahur!ﬂawer - Pusa I White rust
D. Cow pea - Pusa Komal V. Leaf and stripe rust, hill bunt

Choose the correct answer from the options given below:

1. A-IV B-Ill Cl D-Il
2. A-lll B-|l C-l D-IV
3. A-ll B-1V c-i DAl
4. Al B-Ill i DV

Options :

6009641693. 1
6009641694. 2
6009641695. 3
6009641696. 4

Question Number : 124 Question Id : 600964424 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. A-IV B-Ill

2. A-lll B-|l

3. A-ll B-IV

4. Al B-1ll
Options :

6009641693. 1
6009641694. 2
6009641695. 3
6009641696. 4

C-|
C-|
-l
C-l

D-Il
D-IV
D-|
D-IV

Question Number : 125 Question Id : 600964425 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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In lac operon, operator sequence/ region binds with

1. Regulatory gene to switch off the operon

2. Repressor protein to switch on the structural genes
3. Repressor protein to switch off the structural genes
4. Inducer to switch on the operon

Options :

6009641697. 1
6009641698. 2
6009641699. 3
6009641700. 4

Question Number : 125 Question Id : 600964425 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A SHIURI 5 SRR e/ HIT 9 4 S5l ¢

1, R $I 6 P g (P ol

2 THRY ol 1 1 YR 3 a1l RURR U1K
3, R il I [ 3 B drell RURR Ui
4, SR 1 YR™ B a1l e

Options :

6009641697. 1
6009641698. 2
6009641699. 3
6009641700. 4
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Question Number : 126 Question Id : 600964426 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Select correct combination of metaphase characteristics.

A. Condensation of chromosomes is complete

B. Chromosomes are moved to spindle equator

C Daughter chromosomes begin their migration towards the opposite poles
D. Spindle fibres attach to kinetochores

E. Chromosome moves away from the equatorial plate

Choose the correct answer from the options given below:

1.A B, Donly
2.8,C,Donly
3. Eonly
4.8,C, D, Eonly

Options :

6009641701. 1
6009641702. 2
6009641703. 3
6009641704. 4

Question Number : 126 Question Id : 600964426 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Aerthyl # TURE 1 faQvaTd ¢ -

A TR PG

B, TV AT R g o

afa 1oree faufa fesmadt & waw e a3
D. RS PR FIEePR § 95d ¢

E VR SRR § QX §

™

AT fu 0 faded] o 4 w6l SR 9

1.$ad A B3RD
2.%dq B,C3RD
3. %ad E

4, qd B,C,DANE

Options :

6009641701. 1
6009641702. 2
6009641703. 3
6009641704. 4

Question Number : 127 Question Id : 600964427 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Photochemical smog is composed mainly of

1.CO + NO + PAN

2 HC + NO + PAN
3.0; + PAN + NO

4.CO + PAN + HC
Options :
6009641705. 1
6009641706. 2
6009641707. 3
6009641708. 4

Question Number : 127 Question Id : 600964427 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

IR T S eI He: (7 ¥ &el ¢

1.CO + NO + PAN
2. HC + NO + PAN
3.05 + PAN + NO

4.CO + PAN + HC

Options :

6009641705. 1
6009641706. 2
6009641707. 3
6009641708. 4

Question Number : 128 Question Id : 600964428 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Iﬁjage 2193
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Select the order of the flow of water in the roots.

A. Cortex

B. Pericycle

C Xylem

D. Epidermis

E. Endodermis

Choose the correct answer from the options given below

1.D-E-A-B=C
2D=A=-B=E=C
JA-B-D-C-E
4D-A-t-B-C

Options :

6009641709. 1
6009641710. 2
6009641711. 3
6009641712. 4

Question Number : 128 Question Id : 600964428 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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ol 4 Ul & YaTg & A B T B -
A dlew

RAERETY

C. olreH

D. Uiy

£ USisiHg

Ad U U fadedi # 4 Wl SR :

(=)

.D=t-A=-B=C
2D-A=-B=-E=C
JA-B-D=C=-E
4D-A-E=-B-C
Options :
6009641709. 1
6009641710. 2

6009641711. 3
6009641712. 4

Question Number : 129 Question Id : 600964429 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The brain capacities of Homo habilis is

1. Between 1200 - 1300 cc
2. 1400 cc
3. 650 - 800 cc

4, Between 1300 - 1350 cc
Options :
6009641713. 1
6009641714. 2
6009641715. 3
6009641716. 4

Question Number : 129 Question Id : 600964429 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
o ofafer B AR &ma g

1.1200- 1300 cc & 4%
2. 1400 cc
3,650 - 800 cc
4,1300 - 1350 cc & A%

Options :

6009641713. 1
6009641714. 2
6009641715. 3
6009641716. 4
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Question Number : 130 Question Id : 600964430 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In glycolysis, fructose 1,6-bisphosphate is split into DHAP and PGAL. PGAL refers to

1. 3-phosphoglyceraldehyde
2. Pyruvic glyceraldehyde
3. Phosphate glyceraldehyde

4. None of the above
Options :
6009641717. 1
6009641718. 2
6009641719. 3
6009641720. 4

Question Number : 130 Question Id : 600964430 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

RO # ey 1,6-a15hihe ol fage of, ug, U, qur f, off, v vq, A gl . o v v,
:

1, 3-BRBIARIRIGRRS

2 TEE(dd TRfEeRs

4, JRIad 4 9 Dlg Tol
Options :

6009641717. 1

6009641718. 2 Page - 197
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6009641719. 3
6009641720. 4

Question Number : 131 Question Id : 600964431 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Match List | with List Il

List |

List Il

A, Platelets

|, Secrete histamine

B. Neutrophils

Il. Help in coagulation

C. Basophils

IIl. Phagocytic cells

D. Lymphocytes

V. Responsible for immune response

Choose the correct answer from the options given below:

1. Al B-I

2 Al B-|

3. A-lll B-|

4. A-ll B-II
Options :

6009641721. 1
6009641722. 2
6009641723. 3
6009641724. 4

Cll D-IV
CIl DIV
CIv - Dl
C-| D-IV

Question Number : 131 Question Id : 600964431 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

el -1 B G -1 4 GAferd Bifoit
_qa‘ﬂ o -l

A Wede . [T &1 91
B, il I, PRI H Herih
C. st 11, HEUTPRD BIHT

D. femprage IV, HicR It @& g e
i feuu fadedt A 9 gt IR

1. Al B-l cll D-IV
2. A-lll B-| It D-IV

3. A-lll B-I -V Dl
4. A-ll B-I CI DV
Options :

6009641721. 1
6009641722. 2
6009641723. 3
6009641724. 4

Question Number : 132 Question Id : 600964432 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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In bacterial flagellum, the longest portion that extends from the cell surface to the outside in order
to help motility is

1. Basal body
2. Hook

3. Filament
4. Pili

Options :

6009641725. 1
6009641726. 2
6009641727. 3
6009641728. 4

Question Number : 132 Question Id : 600964432 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

SN TSI F1 PIRGT Bl Telg B TG FI dR Heball g3 HITT off T A Tgd ¢
Jwad gl

1. 990 HIT
2.5

3, fipae
4, et

Options :
6009641725. 1
6009641726. 2

Page - 200
200/230



9/18/2020
6009641727. 3
6009641728. 4

Question Number : 133 Question Id : 600964433 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Trypanosoma causes the disease “sleeping sickness” and belongs to following group of protozoans

1. Ciliated
2. Flagellated

3. Sporozoans
4. Amoeboid

Options :

6009641729. 1
6009641730. 2
6009641731. 3
6009641732. 4

Question Number : 133 Question Id : 600964433 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
I R e I SR (U, Hiersia & 4 a7 4 Taid g |
1. ffawes
2. I ‘j Eﬁ E-uf
3, WRIWIH
4, IHIEIZS

Options :
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6009641729. 1
6009641730. 2
6009641731. 3
6009641732. 4

Question Number : 134 Question Id : 600964434 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Community is an aggregation of

1. Individuals of the same kind

2. Populations of different species
3. Individuals of a population

4. Individuals of different kinds

Options :

6009641733. 1
6009641734. 2
6009641735. 3
6009641736. 4

Question Number : 134 Question Id : 600964434 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. GUH UER & Uhd Sild
2. fa3 il ot gy
3, MY & U il

4, faf¥ YR & e offd

Options :

6009641733. 1
6009641734. 2
6009641735. 3
6009641736. 4

Question Number : 135 Question Id : 600964435 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In mature earthworm, a prominent dark band of clitellum helps in cocoon formation and located in

between

1.12 - 14 segments
2.14-16 segments
3.10 - 14 segments
4,14 - 17 segments
Options :

6009641737. 1
6009641738. 2
6009641739. 3
6009641740. 4
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Question Number : 135 Question Id : 600964435 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

U 0% U H g8 1 B Farge U1 ol i AT & T g, (9 @ & 59 Ryd giel 5|

1.12-14
2.14-16
3.10-14
4.14-11
Options :

6009641737. 1
6009641738. 2
6009641739. 3
6009641740. 4

Question Number : 136 Question Id : 600964436 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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On the basis of proportion mineral particles of different sizes in soil represents its texture. Mineral
particles in soil vary greatly in size

A. between 0.2 mm and 2 mm - coarse sand

B. between 0.02 mm and 0.2 mm - fine sand

C. less than 0.002 mm - clay

D. between 2.0 mm and 2.0 mm - silt

Choose the correct answer from the options given below:

1.A D, Conly
2. A, Bonly
3.B&Conly

4. A, B, Conly

Options :

6009641741. 1
6009641742. 2
6009641743. 3
6009641744. 4

Question Number : 136 Question Id : 600964436 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A 02012 mm & A — R 81

Fﬂ

0,02 T41 0.2 mm — GEAHUT 72T
0,002 mm ¥ SH — HfeieT

(]

D.  20d4120 mm—1g

1. dd A CAUID
2.$dq ATUTB
3, hdd BAUIC
4,%ad A BTUIC

Options :

6009641741. 1
6009641742. 2
6009641743. 3
6009641744. 4

Question Number : 137 Question Id : 600964437 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Arrange in correct sequence.

A. Isolation of DNA

B. Hybridisation using labelled VNTR probe

C. Digestion of DNA by restriction endonucleases

D. Separation of DNA fragments by electrophoresis

E. Blotting of separated DNA fragmented to synthetic membranes
Choose the correct answer from the options given below

Options :

6009641745. 1
6009641746. 2
6009641747. 3
6009641748. 4

Question Number : 137 Question Id : 600964437 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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el A H o
A. DNA 1 Gy

B. VNTR Wid 3114IRd grafaigzor

C. WRCHRH TST-gaReilUsl ZRT DNA 61 T

D. FAI BRI FRT DNA WhHe BIcHl/3fci &
E. Wl fajeell R 1T U DNA 1 Feebren
A4 [0 fadhedl 4 9 ol TR -

1.A-E=B-C=D
2A=-C-E=B=D
3A-C-D-E-B
4A-D-C-B-E
Options :
6009641745. 1
6009641746. 2

6009641747. 3
6009641748. 4

Question Number : 138 Question Id : 600964438 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List | List Il

A. Collagen | I. Intercellular ground substances
B.GLUT-4 | II. Fights infectious agents
C. Antibody | III. Sensory reception

IV. Enables glucose transport into
D. Receptor ” J P
ce

Choose the correct answer from the options given below:

1Al Bl Gl DIV
2AV Bl CIl D
3.A-L BV Gl DAl
4 Al Bl CIV Dl

Options :

6009641749. 1
6009641750. 2
6009641751. 3
6009641752. 4

Question Number : 138 Question Id : 600964438 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Tl -1 1 -1 G gAferd Pifoie

Tt -| Tt -
Al L Sl s (RR) 7w
B.GLUT-4 I AT BRI § el
o I T o
D. IV, BT B I H T
A feu o fased 9 98t Sw U

LA Bl G D-V
2AV Bl G D
3AL BV Gl Dl
4 Al B CIV Dl

Options :

6009641749. 1
6009641750. 2
6009641751. 3
6009641752. 4

Question Number : 139 Question Id : 600964439 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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In 1953, S.L. Miller in his experiment, created electric discharge in closed flask containing CH,, H,,
NH; and water vapour at

1.750°C
2.800°C
3.850°C
4.700°C

Options :

6009641753. 1
6009641754. 2
6009641755. 3
6009641756. 4

Question Number : 139 Question Id : 600964439 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

1953 ¥, T, Udl, e = 10 0 ¥ U G Wl H CHy, H, NH, 741 o™ ol Juiid § . W
G 7+ fora

1.750°C
2.800°C
3.850°C
4,700°C

Options :
6009641753. 1
6009641754. 2

6009641755. 3
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6009641756. 4

Question Number : 140 Question Id : 600964440 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below are parts of a sentence, explaining parturition in jumbled order. Rearrange them in
correct order.

A. Process of parturition in human female completes as

B. Oxytocin acts as stimulatory reflex between the uterine contraction and oxytocin secretion
continue

C. Foetal ejection reflex

D. Leads to expulsion of the baby out of uterus

E. Release of oxytocin from the maternal pituitary

Choose the correct answer from the options given below

1.A-B-C-D=E
2A-E-C=B-D
3A-C=E=-B=-D
4A-B-D-C-EL
Options :
6009641757. 1
6009641758. 2

6009641759. 3
6009641760. 4

Question Number : 140 Question Id : 600964440 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

el o 0 ATl 1 g1 o A el &% For ) &1 a1 T (URIeH) 1 e e e |
A, FIF7d 1G] # 5 &l ot i g 0 8 e il ¢

B. SfIaRICIRA iR I e eI B B He kol SEU 1 6T Yl § el

C. fived P Jgi

D. gy &1 e R e v gl 8

E. g feed] 9 @ siadiciR 1w

Ald 13U 70 fadedi 4 Wl TR -

1.A-B-C=D-tE
2A-E-C-B=D
3JA-C-E-B-D

4A-B-D-C-E
Options :
6009641757. 1
6009641758. 2
6009641759. 3
6009641760. 4

Question Number : 141 Question Id : 600964441 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

Marasmus and kwashiorkor are produced in infants and children of many underdeveloped countries
affected by

1. Calories malnutrition

2. Carbohydrate - energy malnutrition
3. Protein - energy malnutrition

4. All of above

Options :

6009641761. 1
6009641762. 2
6009641763. 3
6009641764. 4

Question Number : 141 Question Id : 600964441 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

TR 1 ISR D 0 Faeial H fefdpiid o2t # U0 I Tt (a1 $1 PRV o

1, N U
2 BIelgRac-Foll GUNT
3, YIEH-Zul Huvo
4, TRId g+t
Options :
6009641761. 1

6009641762. 2
6009641763. 3
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6009641764. 4

Question Number : 142 Question Id : 600964442 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Select correct combination pertaining to fundamental characters possessed by chordates,

A. Bilaterally symmetrical coelomates

B. Notochord provides skeletal support

C. Defines proboscis

D. Tail contains skeletal elements

E. Dorsal hollow nerve cord

Choose the correct answer from the options given below:.

1.8,C, D, Eonly
2.A,B,D, Eonly
3.A B,C Donly
4.B & E only

Options :

6009641765. 1
6009641766. 2
6009641767. 3
6009641768. 4

Question Number : 142 Question Id : 600964442 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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HISC & B T BT 9 B

A

Td feu e faepedl 7 9 H§l IR -

fo ot ww Rieide
g ¥ R it 3

1.%dd B,C DAUE
2.9 A B DAUlE
3,79 A B, CUID

4 $ad BaYUE

Options :

6009641765. 1
6009641766. 2
6009641767. 3
6009641768. 4

Question Number : 143 Question Id : 600964443 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Double fertilization in flowering plants

A. One of the male gametes moves towards the egg cell and fuses with its nucleus thus completing
syngamy

B. And develop the endosperm

C. Results in the formation of a diploid cell, zygote

D. The other male gamete moves towards the two pollen nuclei located in the central cell and fused

with to produce PEN
E. Syngamy and triple fusion takes place in the embryo sac

Choose the correct answer from the options given below:

1.A B, D, Eonly
2.A,C,D, Eonly
3. A&D only

4. A, C Donly
Options :
6009641769. 1
6009641770. 2
6009641771. 3
6009641772. 4

Question Number : 143 Question Id : 600964443 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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N el # 3R e H e 8

A T R TG HUS-HIRIP] DI RP SR bes & (e R ool e @
B. 01 CoIRuH 1 fabra gl 8

C. URVIFEREREY 2n 3401 &1 a0 gl @

D. TG4 R 4 g iieplaft A fRud syt Fspl 4 s PEN &F11aT @
£, Rt cur g fyor vl 9 A gl @

AR Ry el 48 9 SR 4

1.%dd A B, DdUIE

2.59d A C,DJUIE
3, 5dd ATUID
4 $aq A CTUD

Options :

6009641769. 1
6009641770. 2
6009641771. 3
6009641772. 4

Question Number : 144 Question Id : 600964444 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements

Statement | : In the process of water movement in plants “root pressure” is responsible for pushing
up water to small height in the stem,

Statement Il : “Root pressure” is responsible for upward flow of water through the xylem.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both statement | and statement |l are true
2. Both statement | and statement Il are false

3. Statement | is correct but statement Il is false

4, Statement | is incorrect but statement Il is true
Options :
6009641773. 1
6009641774. 2
6009641775. 3
6009641776. 4

Question Number : 144 Question Id : 600964444 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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S EAEREA RIS
B - | T 1 ot o g 1 o 1 Uil Gt 0 Ugdi 1 or! 1 GdTd &1 Rl ¢

B - |1 ST 1 a8 TR o ST GRS g6 § 9o ¢l
Iiad ol b reiie | fated fdbal 4 8 gl I g

1, 2 U | U U 1 §A
2. GHI Y | T Y 11 3Fd §
3, BUTI T § U PUT I 3 &

4, BYT | A ¢ YT HY 11 9 ©
Options :
6009641773. 1
6009641774. 2
6009641775. 3
6009641776. 4

Question Number : 145 Question Id : 600964445 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List | List Il
A. Bryophytes | I. Cycas

B. Algae . Sphagnum

C. Pteridophytes | Ill. Chlamydomonas

D. Gymnosperms | V. Selaginella

Choose the correct answer from the options given below:

1. A-ll B-Ill C-l D-IV

2A-I Bl C-| D-IV

3. A-ll B-Ill C-IV D-|

4. A-l B-Il C-lI D-IV
Options :

6009641777. 1
6009641778. 2
6009641779. 3
6009641780. 4

Question Number : 145 Question Id : 600964445 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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el - PGl -11 8 GAferd Pifoit

I

T I

A, STIIEC | FHY
B, QT I. &gy
¢ eReiprze . TGS
D. forgreqdd V. fErifora
i feu e fadedi A € w8l I g
LA Bl Gl DV
2AN B ¢l DV
AL Bl GV DA
LA Bl DV
Options :

6009641777. 1
6009641778. 2
6009641779. 3
6009641780. 4

Question Number : 146 Question Id : 600964446 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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If you place a plant cell/tissue in a solution and plant cell shrinks away from its cell wall, then what it
indicates?

1. Solution is hypotonic
2. Solution is Isotonic
3. Solution is hypertonic

4. None of the above

Options :

6009641781. 1
6009641782. 2
6009641783. 3
6009641784. 4

Question Number : 146 Question Id : 600964446 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
6009641781. 1
6009641782. 2
6009641783. 3

6009641784. 4
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Question Number : 147 Question Id : 600964447 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following combination of animals lack body cavity?

A. Arthropod

B. Taenia solium

C. Aschelminthes

D. Fasctola hepatica

E. Planaria

Choose the correct answer from the options given below:

1.A, B, Conly
2.A,B,C Donly
3. C&Eonly
4.B,D, Eonly

Options :

6009641785. 1
6009641786. 2
6009641787. 3
6009641788. 4

Question Number : 147 Question Id : 600964447 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
6009641785. 1
6009641786. 2
6009641787. 3
6009641788. 4

Question Number : 148 Question Id : 600964448 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following combinations is correct regarding to “transamination”?

A. Involves transfer of a-ketoglutaric acid to glutamic acid

B. Involves the transfer of amino group from one amino acid to the keto group of a keto acid
C. Ammonia reacts with a-ketoglutaric acid to form keto acid

D. Involves transfer of glutamic acid to ketoglutaric acid

E. Transfer of glutamic acid to keto acid

Choose the correct answer from the options given below:

1. A B, only
2.D only
3. B only
4. Aonly

Options :

6009641789. 1
6009641790. 2
6009641791. 3
6009641792. 4

Question Number : 148 Question Id : 600964448 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009641789. 1
6009641790. 2
6009641791. 3
6009641792. 4

Question Number : 149 Question Id : 600964449 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The salient features of genetic code are

A. The codon is triplet, 61 codons for amino acids & 3 codons do not code for any amino acid, they
function as stop codon

B. The codon is read in mRNA in contiguous fashion, no punctuations

C UAA, UAG, UGA are stop terminator codons

D. Some codes are universal

E. AUG has dual function, it codes for phenylalanine (Phe) and it also acts as terminate the process

Choose the correct answer from the options given below:.

1.A B, Donly
2.A, B, Conly
3.A,B,D, Eonly
4 ABE only

Options :

6009641793. 1
6009641794. 2
6009641795. 3
6009641796. 4

Question Number : 149 Question Id : 600964449 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Page - 228
228/230



9/18/2020

e ig B e fauva g ¢

A, DTS S ©, 61 DISH Sl 3 qu1 3 Bl [t Hi siiF! 3pd & g ! afewp d wI
DI §

B, HIS mRNA & &0 H a1 3l / 9181 g1 o1l ¢

C. UAA, UAG, UGA WishIRISI® 1S §

D. $% I8 damdi ¢

£ AUG IS & I Xl €, BIFIZAIUiaH (Phe) 1 et et dell WpIRIYa @1 it i el
A feu T foaedt & 4 61 SR 9

1.9dq A BTUID

2.%dd A BTUIC

3. %dd A B DU
4. Haq ATUTE

Options :

6009641793. 1
6009641794. 2
6009641795. 3
6009641796. 4

Question Number : 150 Question Id : 600964450 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical P 99
age -
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Correct Marks : 4 Wrong Marks : 1

Which of the following is not a component of innate immunity?

1. Interferons
2. Antibodies
3. Complement protein
4. Phagocytes
Options :
6009641797. 1
6009641798. 2

6009641799. 3
6009641800. 4

Question Number : 150 Question Id : 600964450 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
6009641797. 1
6009641798. 2

6009641799. 3
6009641800. 4
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